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1. Accounting concepts is considered as ... upon which the science of accounting
based.
(1) Customs (2) ‘Traditions
(3) Objectives (4) Basic Conditions
SEC|C71 SIRCE 5| £acd 1fc=1 M2 2) SN qrr A T &, e 99 Asime wr g
I ® |
(1) af-Rarst (2) I

(3) IeeT (4) Framd ot

2. The .............. is a book of original entry wherecas the ............. is the book of sccond
entry.
(1) Ledger, Journal (2) Journal, Ledger
(3) Cash Book, Journal (4) Journal, Cash Book
......... g ufafte &1 g & wafs ... fEdE gt 2 3E=E 7
(1) =TT, S (2) S, =T
(3) &HeT goh, A (4) S5, &9 FF

3. Error of omission arises when :
(1) Any transaction is left to be recorded
(2) Any transaction is recorded in a fundamentally incorrect manner
(3) Any transaction is incorrectly recorded, cither wholly or partially

(4) None of the above

(1) #% A-37 =51 H7d T gz A4Gl 8

(3) & #9-Z9 T A% A 7 FFEr A 2, A ar 9o 3y wqifers w1 #
(4) 3T9F # 7 H/E AE
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8. Hirc purchase is an agreement of ... whereas instalment purchase system 15 an
agreement of sale.

(1) Consideration (2) Contract

(3) Hiring (4) Return

ERRINER] ........ 1 ey & oordfd i gorred] Al bl e o
(1) Sfereet (2) HeeH

(3) AT R AT (4) arai

9. According to the decision in Garner Vs. Murray in the abscnce of any agreement (o
contrary the deficiency of the insolvent partner must be borne by other solvent partners

in proportion to ............. :

(1) Profit and Loss sharing ratio

(2) Capital employed

(3) Realisation of assets

(4) Capitals which stood before dissolution of the firm

Wwﬁﬁm%wﬁmﬁmaﬁwﬁw;ﬁqnwﬁ % feo
ﬁﬁfﬁsﬂa@ﬁﬁ%aﬂmﬁmﬁaﬁmwﬁaﬁm ........... & o |
e fpar o = e |

(1) @ SR e+ BT STgAd
(2) P gl
(3) Rl @ o
(M@ﬁlwﬁa‘vﬁrm@qaﬁeﬁ

10. Irrecoverable short workings are transferred tO ..o Account.
(1) Royalty payable (2) Landlord's
(3) Profit and Loss (4) Trading
saftad S afrd @l ... @i # i far S 2
(1) o 2= (2) webT TR b
(3) @9 AT B (4) &AM
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11, What is Business ?

(1) Buying and Selling of goods (2) Commerce and Industry
(3) Tradc (4) Nonc of these

ATHT F1 77

(1) 9¥1331 w1 #4 faza (2) arforss e zEnT

(3) “ATIT? (4) za8 77 FZ2 F&

12. Who is known as father of scientific management ?

(1) I- W. Taylor (2) Max Weber
(3) Henry Fayol (4) S. George
(1) ko Zao a7 (2) T3 T=7
(3) 2991 T (4) THo HTH

13. Management is called a process because -
(1) Itis applicable to the manufacturing process
(2) Itis relevant for social organization
(3) It involves a series of action
(4) All of the above
(1) == fqetor ufsEan 97 &5 &A1 2
(B)Wﬁmaﬁﬂ”?’msma
(4) TR A4

14. Which among the following involves in planning process

. . . . o] tis 1 s 't > 2 1 i hio N Y I
(1) Selective of objective (2) Determine the way 10 achieve objectinve

(3) Both (1) and (2) (4) None of the above
(1) 2299 &1 =349 (2) 3859 9T HIA & TUH F YT
(3) (1) =17 (2) A1t (4) TRF H |/ I T8

PG EE-June, 2023/(Commerce)(SET-X)/(A)
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15. First step in organizing is :

16.

17.

PG-EE-June, 2023/(Commerce)(SET -X)/(A)

(1) Establishing authority leadership

(2) Coordination of activitics

(3) Grouping of Jobs into departmentation

(4) Division of work

ATETEShT # dedr =R g

(1) sfErepR Aqe P TIYAT

(2) wfafafe=t & aF<aA

(3) Frsr & ABA F G

(4) B H AT

............... is the process of differentiating between applicants in order to identify and
hire those with a greater likelihood of success in a job.
(1) False negative error (2) Training

(3) Selection (4) None of the above

...........

(1) TTete THRIAS S (2) wferereT

(3) @A (4) ITAH T | B3 Ol

According to Fredrick Herzberg .......... are .elements associated with conditions
surrounding the job.

(1) Hygiene, factors (2) Motivating factors

(3) Economic factors (4) Environmental factors

ied eofat & STFATT -oovveeee m%aqmqmaﬁﬁaﬁﬁr@@%aa%‘l
(1) @@=l Heh (2) A& HIh

(3) oTfieh Heh (4) TAfERea HRD

P.T. O.



18. Contingency theories of leadership has been developed by :

(1) Fiedler (2) Hersey and Blanchard
(3) Hardy (4) All of the above
ATE B R i B fetaa fear T ®
(1) fPpsa g (2) ed AR ==S ar
(3) &El g™ (4) IUAH G

19.  Which of these should not be avoided for effective communication ?
(1) Noise (2) Planning
(3) Semantic problems (4) Wrong assumptions
T FO9OT & fQ 399 @ R 98 e s anfeu 7
(1) sTX (2) ASAT
(3) Fadfes ax=d | (4) TTAE gTROTY

20. The three stages of the change process are
(1) Unfreezing. Adjustment and Refreezing
(2) Adjustment. Unfreezing and Refreezing
(3) Adjustment. Unfreezing and Re-adjustment
(4) Adjustment. Re-adjustment and Unfreezing

gqfRgd afshznr & &9 =701 §

(1) 3ThIfsiT, uesede 3w A

(2) TsSTEEHE, FAWHISHT 3 AW

(3) ussieHe, T ok §-ussrane
(4) TssteeRe, f-usoreie 3R AWM

21. Every promise and every set of promises. forming the consideration for cach other. is

called as : |
(1) An agreement (2) A void contract

(3) A contract (4) A voidable contract

g&% guq X a=gdl &1 qde gg=ad, S Uh g & fau gfowa g=a g,
FeATd © - |

(1) T T (2) U I ST

(3) TH Y (h) TH LIHNT FEy

PG-EE-June, 2023/(Commerce)(SET-X)/(A)




22. A 'contingent contract’ is a contract to do or not to do something, if some cvent
collateral to such contract :

(1) Does or does not happen (2) Happened or will not happen

(4) None of the above

UF HAHEE FED FB B AT F FA B ST B, AR HedT Ug
AIEg & forg Huifdfeas & - e w

(1) rar 2 a1 &1 e B (2) &3 =1 =& B
(3) B GFaT & AT FAE B Wl & (4) ITNF H q P A

(3) May or may not happen

23. It is necessary in bailment to transfer of :
(1) Property (2) Goods
(3) Ownership (4) Possession
ENE AR SN F TEET BET FE&A B |
(1) &af (2) =1
(3) = (4) st
24. Which Section of Consumer Protection Act, 1986 states about the objects of the
Consumer Protection Councils ?
(1) Sec.5 (2) Sec. 6
(3) Sec.9 (4) Sec. 11

IUATHT G770 FAEE, 1986 I HIH-G1 9 IUHRAI 0T qRkwal & Iged
FHax o gad g ?

(1) am1'5
(3) amT9

(2) a1 6
(4) g 11

25. Essential elements of a partnership include :

(I) Agreement (II) Mutual Agency

(III) Sharing of profit (IV) Business

(V) Association of two or more persons

(1) . llTand V only (2) LII, V only

(3) LI, IV and V only (4) All of the above

PG-EE-June, 2023/(Commerce)(SET-X)/(A) P.T.O.
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8
qAardl B g a7 gnfae &
(h G (I =Ig3= o
(I ™ &1 F2qra (IV) =gmgre
(V) & a1 a1 a4 fas s=afpat &1 499
() &ast LI RV (2) Bas 1.1, V
(3) A LILIV 3R V (4) I FA
26. ... cannot be dishonoured by non-acceptance.

(1) A bill of exchange or cheque

(2) A promissory note or a cheque

(3) A promissory note or a bill of exchange
(4) None of these )

............. B TP FIT A HAET TE R o FwAr B
() g a5 a1 3%

(2) T 999 99 1 uF JF

(3) T g9 g 71 faftmg g

(4) 399 Q H2 FE

27. The position of the finder of lost goods is that of :

(1) Time owner (2) Creditor
(3) Bailor (4) Bailee

(1) 2139 =Y (2) F==TT
(3) FAHTEFIETY (4) FHHTIT

28. An application under RIT can be sent by

(1) E-mail (2) Post

(3) Delivered personally (4) Through anv of the above means
HAWSIATE F d8d Uk 3d=9 (535 a9 9537 A1 9597 0

(1) 2 A4 (D) T

(3) aafsrra 1 A faatrg (4) 3T9F BRI o1 mremm A

PG-FEE-June. 2023/ (Commerce)(SET-X)(\)



29.  Which new type of company was introduced in Companics Act. 2013 7

(1) Onc Person Company (2) Two Person Company

(3) Limited Liability Partnership (4) Public Private Partnership
uft sfafem, 2013 d f6A 90 ggkr @1 9+ q91 #1727
(1) v afeh &dl (2) &1 Afh FHIHT

(3) #fra agar e (4) AE=F Ao drmer

30. What is the minimum paid-up capital required to incorporate a public company ”

(1) Rs. 10 lakhs (2) Rs. 50 lakhs
(3) Rs. 1 crore (4) Nonc of these
U AEE FO B i F & few aEgEE gAem wEm Pl = B
(1) 10 sm@ w941 (2) S50 =@ &94A1
(3) | &3 & (4) 399 | P T2
31. How many fundamental clauses are contained in the Memorandum of Association of a
company ?
(1) 5 (2) 6
(3) 7 (4) 8
uh FUN B BEvEH oe cataueE H fEan Sifes e ffed & 7
(1) 5 (2) 6
(3) 7 (4) 8

32. If the ownership of share of a company gocs to another by operation of law. it is called

as :
(1) Transmission (2) Transfer
(3) Both (1) and (2) (4) None of these

2, @ A FE AC B

(1) ga7o1 (2) T
(3) (1) 37 (2) 2t (4) =78 A FF TE

PG-EE-June, 2023/(Commerce)(SET-X)/(A) P.T.O.
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33. Name of the member of a company is struck off from the register in casc ol :

(1) Issue of shares (2) Bonus issuc of shares
(3) Issue of share warrants (4) None of thesc
UF DI F I H AW WA e o B, B S A A
(1) st &1 foefee (2) st @1 A= fAeE
(3) X TR FH ity (4) 379 @ FHIF T8
34. Liability of director of a company is towards :
(1) Government (2) Public
(3) Company Law Board (4) Shareholders of the company
UH HIA b PR & i fre & gy Sy
(1) IR (2) ST
(3) HIAI & N (4) TN P AIYRE
35. Which of the following is the meeting of shareholders ?
(1) Annual General Meeting (2) Extra Ordinary General Meeting
(3) Class Meeting (4) All of the above
Frfafad & § 9 RS & Jew 2 ?
(1) T o Jo& (2) SFAHEYRTT 39 Yok
(3) FET AoF (4) SU=H G+t

36. As per Companies Act, 2013, the procedure for winding up of a company can be
initiated either :

(1) By the tribunal (2) Voluntary

(3) Any of the above (4) None of the above

Fa Afafam, 2013%W,WW%WWWS@W®
gftpar & o el Y

(1) =raTfEeT & (2) QAfess

(3)gqﬁ?ﬁaﬁa’ﬁg (4)3@?513@@3‘:1%?1

EE-June 2023/(Commerce)(SET-X)/(A)
pG-EE-June.



37. Human Resource Management is amalgam of ............. .

38.

39.

(1) Job analysis, recruitment and sclection

(2) Social behaviour and business ethics

(3) Organisational behaviour, personal management and industrial relation
(4) Employer and employee

qHa G J6ET 1 o B

(1) Fepd feAmor, sl iR ===

(2) T g 3R amadiaes Aferehdr

(3) eI FEER, ARK g AR Sl dei

(4) AT o) HHETd

HRM can be understood as process ol
(1) Processing

(3) Maintaining people

TEeTRTT @ e SfRar & w0 F @HE S Wbl § 7
(1) TGERIT (2) faeprasia

(3) @FIt @ ST @A (4) ITAH G

(2) Developing
(4) All of the above

Which of the following is a benefit of employce training ?

(1) Improves morale

(2) Helps people identify with organizational goals

(3) Provides a good climate for learning, growth and coordination

(4) None of these

Rrfefag § @ @F-a1 HHErd SfREeT & A 7

(1) 7S STl 8

(2) @Rl B ErenTEH TA F gEE HIA A HEE BT ©

(3) drEd, Ry AR @< B RIC U STEST dImEReT e YAl 8

(4) 37H q Hg 7L

PG-EE-June, 2023/(Commerce)(SET-X)/(A)
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40. Recruitment logically aims at :

(1) Attracting a large number ot qualified applicangs

(2) Oflering enough mformation to unqualified persons
(3) Encouraging potential applicants
(4) All of the above
difebs &9 q o<t &1 ey R
(1) 91 J&n & 999 AR B aymiig HIT
(2) AT ARRN B wHv e Eo
(4) IUAH Tqf

41. In Rowan plan :

(1) It provides a guarantee of minimum wage

(2) Management share a percentage of bonus

(3) Inferior and fresh workers are not penalized
(4) All of the above

AT Ao § -

(1) T® 7 99gd & TS w'm wwa 2
(2) TS I9E FoAfyeT G way

(3) EF X 7w FH=RE H feq T8 Ry o
(4) IR=w g

42. Time wages are paid on basis of -
(1) an hour (2) aday

(3) aweek (4) any of the above

mmqa@ww%a%aﬂwwmm%?

(1) T et (2) T Ry
(3) TH TTE (4) 3T F q B 5§
43. Identify the major actor of industrial relations from the following :
' (1) Employers (2) Unions
(3) Government (4) All of the above

3/(Commerce)(SET-X)/(A)
_June, 202
PG-EE




44.

45.

46.

47.

PG-EE-June, 2023/(Commerce)l SET -X)AA)

L e PRI BN R TN 11111 6 PR ) NS PR G (e o | Y 1 R TR [ I AL

(1) Faaren (2) Y1

(3) HIENR (4) 3 qe

The conflicts and disputes between employers and cmploycee ol any imdustrial mat

arc known as
(1) Industrial disputes
(3) Conflicts relation

(2) Human relation
(4) All of the above

' §

fpef off ofenfies wma d farenrst she adarizal & Aeq oy s faart 4

fopey @ & ST AET @
(1) 3Nenfivre fqare (2) At e
(3) 999 HEy o (4) I9H H9)

When the value in a scries are not equal importance. we caleulate the
(1) Arithmetic Mean (2) Geometric Mcean

(3) Weighted Mean (4) Modc
S| BRE egen # " A ded S8 @ d dn e o sl #
(1) feparforcr Hed (2) ~qilereqr wied
(3) i =eA (4) Al
What is the value of the first quartile for observation 15, 1810202328 1216
(1) 17 (2) 16
(3) 12.75 (4) 12
15.18.10.20.23.28, 12, 16 Deqofl & faqu e dqoeda, 41 i 4ar 2
(1) 17 (2) 16
(3) 12.75 (4) 12
If the beta one is 9, beta two s T then coethicient of skewness i
(1) 0.589 () 0 6RY
(3) 0.489 (1) O BRY
afa drer va 9 ®, Aver A L, fanmar e iy e
(1) 0.589 (1) 06RO
(3) 0.489 (1) (0 ¥RO
P

/

).
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48. The correlation coefficient is used to determing :

49.

50.

(1) A specific value of the Y-variable given a specific value of the X-variable
(2) A specific value of the X-variable given a specific value of the Y-variable
(3) The strength of the relationship between the X and Y variablcs

(4) None of these
WHWmeﬁﬁmm%mmm%i
(1) Y-5% o w fafre mF, Rar @ @ X-a3 & e fafers 6
(2) X=X %1 uF faRre 7F, B e & Y-S & uh i et
(3) X 3T Y =X & g 94y & gedl

(4) 399 | HI3 T

In regression, the equation that describes how the response variable (Y) is related to the
explanatory variable (X) is :

(1) The correlation model

(2) The regression model

(3) Used to compute the correlation coefficient

(4) None of these
Wﬁ,yﬁweﬁaﬁqm%ﬁsqﬁmmmmmmﬁ

(2) ferm Hisd
(3)Haﬁaayﬁ$aﬁmm%%ﬂmmm%

(4) =8 & FE A

The best average for constructing an index number is

(1) Harmonic mean (2) Arithmetic mean

(3) Geometric mean (4) None of these
u gEHE A B e A qad B

(1) BUHE ATHA (2) 3FepArOT AT
(3) wfEe™ HIeA (4) =8 A P T8I

PG-EE-June, 2023/(Com merce)(SET-X)/(A)



51.

52.

53.

54.

PG-EE-June, 2023/(Commerce)(SET-X)/(A)
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The method of moving average is used to find the :

(1) Secular trend (2) Seasonal variation

(3) Cyclical variation (4) Irregular variation

e waXe #) faf B SgA Fr @ S &R & R o B
(1) gefaer gaf (2) A FEAE

(3) ==hrg = (4) AfafFa =

Two unbiased coins are tossed, what is the probability of getting at most onc head ?
(1) 3/4 (2) 1/6
(3) 12 4) 173

3 oRa Ryapt & IuT ST 2, oAt @ e ue fa s\ @t wifdesdn
F R ?

(1) 3/4 (2) 1/6
3) 172 4) 173

When the share are forfeited, the share capital account is debited by :

(1) Nominal value of shares (2) Called-up capital

(3) Paid-up capital (4) None of the above

STe gt B Yo7 FH forr San B, @ S goit @ @l Sfye fpan S @ o
(1) = H A g 8/ (2) "R OGS &

(3) w=d gl & (4) ITAH H q P T8

The balance of Sinking Fund Investment A/c after the realisation of investment is
transfered to :

(1) P& L A/ (2) P & L appropriation A/c

(3) Debenture A/c (4) Sinking IFund A/c

fagr & agelt & ae a=-M Fag @ & 9w afsr H werAaia B
IR

(1) T8 e (2) -1 fafEer @

(3) OIS @ (4) -y @rar
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55. I‘or calculation of the value of an cquity share by yicld method, information i reg
regarding :
(1) Normal rate of return (2) Netasscts ol the business
(3) Face value of the share (4) Market valuc ol the sharc
diee fafe a1 ud gfaad Qo g g A o & fert g SONEUREERR
gt 8 ‘
(1) aradl sl G &3 (2) aerar 1 9 Hdi
(3) M F sifeha geu (4) a¥ bl AT oA
96. Dividends can be paid by a company only out of :
(1) Current year's Profits (2) Capital Redemption Reserve Al
(3) Securities Premium A/c (4) Reserves and Surplus

FIA ST A AT BN FIA 2 oAl Abedl

(1) =T a9 &1 e (2) gl HE Hrefard i
(3) sfergfar shifsrm @ (4) ¥z 3 Ay
57. The accumulated losses under the scheme of internal reconstruction arc written ol
against :
(1) Share Capital A/c (2) Capital Reduction A/c
(3) P& L Alc (4) None of the above
afiafie AT @ AeTr & ded Hied el &l ag @ ® =ren s
(1) & goit @ (2) UST AN @
(3) @ Td B (4) 3UAh H A B A
58. Debenture holders having a floating charge have priority in payment over :
(1) Preferential creditors (2) Sccured creditors
(3) Unsecured creditors (4) None of the above
AT =T AT TOTIH eTEhl BN A o qrerfenar A1 o) ¥
(1) TSTE AT (2) gfera aanr
(3) rgfEa AFER (4) ITA<H T A BE 88

PG-EE-June, 2023/(Commerce)(SET-X)/(A)

A
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59. Provision for doubtful debts in casc of standard assets is to be made of :

(1) 1% (2) 0.40% (3) 5% 4) 10%
A GUiy & qee & | e & foe yEygE fhar S @
(1) 1% (2) 0.40% (3) 5% 4) 10%

60. Issue of bonus shares by the subsidiary company out of capital profits will :
(1) Decrease cost of control
(2) Increase cost of control
(3) Have no effect on cost of control
(4) Increase éapital profits
FEgd U BN gee o 7 @ a9 QAE S B
(1) FrEsror & arra o & 0 e
(2) fisror & @rra 7 gl e
(3) P & @R 9 HE gNE e g ©
(4) Gofrrar @ & gfa e

B1. oiccssennimne is a unit of product, service or time in relation to which cost may bc
ascertained.
(1) Budgeted cost (2) Unit fixed cost
(3) Unit cost (4) Cost unit

................

(1) SSTE™ AT (2) 33 fvEa @mm
(3) 3R AN (4) AP B
62. Two important opposing factors in fixing the economic order quantity arc .......... cost
and the ........... cost.
(1) Ordering, Storage (2) Storage, Scrap
(3) Ordering, Re-ordering (4) Storage, Re-ordering

PG-EE-June, 2023/(Commerce)(SET-X)/(A) P.T. O.
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63.

64.

65.

e FH AT qOF FTX F A Aeayel [GAA FTE S
........... AR B |

(1) oTEY, &N (2) ¥, BhU

(3) 3ATER, q-a1EY (4) wR=, -3=7

Idle plant capacity means :

(1) Practical capacity minus normal capacity

(2) Maximum capacity minus actual capacity

(3) Practical capacity minus actual capacity

(4) Maximum capacity minus practical capacity

Ffera | emmer @ o1ef B

(1) e e AE=ad amEre e

(2) oTfeeRaH etHen AT aredfaes e

(3) =AaEIRF &HT ATZAH arafas &Hdr

(4) IITpaH &= AZAE Gelis eHar

Under-absorption of production overheads is ............. and over-absorption of sucn
€Xpenses are .............. while reconciling costing profits with financial profits.

(1) Added, Deducted (2) Deducted, Added

(3) Added, Multiplied (4) Multiplied, Deducted

R A B 9 Ard Y & e wd @I Ided 39iveEs &
FH-STAMIOT .ooeeee AR T TG & AfH-FEMIT L z

(1) SN 1A, ge™ T (2) "2 M, S T

(3) stre T, e Y @ (4) ot fpu T, gerd T3

Where actual loss in a process is less than the anticipated loss. the difference betwe”
the two is considered to be :

(1) Abnormal gain (2) Normal gain

(3) Abnormal loss (4) Normal loss |
& wp uEa § adfae e, SR B ® B AN & &= om0
HET AT 8

(1) TEm™H=A & (2) GETE 4

(3) ITEE Bl (4) TET= BT

PG-EE-June, 2023/(Commerce)(SET-X)/(A)



A 19

66. ... e is an important point to be determined in industries where batch costing is
applied ‘
(1) Economic batch quantity (2) Estimated profit
(3) Escalation clause (4) Depreciated value of plant
E L PO FMuia fFr 1 aren e weagel fag @ swel -
z SR A B |
(1) snfeie &= == (2) STFAI TN
(3) gfs @s (4) N B IFHEH T

67. A budget which is prepared in a manner so as to give the budgeted cost for any level of
activity is known as .............. budget.
(1) Master (2) Zero-base
(3) FFunctional (4) Ilexible
U goie Sl 3@ aXe @ JaR fear o @ e R oft 'R @t wfafafa @ fere
TS ATTT & ST B, .. g¢ & ®q § 1 S 8 |
(1) A=Y (2) LI-HER
(3) HEf® (4) s

68. The P/V ratio of a company is 50% and margin of safety is 40%. If present salcs is
Rs. 30,00,000, then Break Even Point in Rs. will be :
(1) Rs. 9,00,000 (2) Rs. 5.00,000
(3) Rs. 18,00,000 (4) None of the above
U FIH B P/V STHUE 50% R G B AW 40% B A adae s
30,00,000 5o B, & Ho H &% a7 Ulg=< BN :

(1) 9,00,000 o (2) 5,00,000 vo

(3) 18,00,000 Fo (4) IW<h 7 & P32
69. Livery year the residential status of an assessee :

(1) May chance (2) Will certainly change

(3) Will not chance (4) None of these

el A U fyificd & e Rafa

(1) gftafda & gesctt & (2) ffe=a aftafda arft

(3) uftafda =& anft (4) 378 q FE T

PG-EE-June, 2023/(Commerce)(SET-X)/(A) P.T.O.
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70. For being the income taxable under the head 'salarics', it is essential to be :
(1) No relation between employer and cmployee
(2) Relation between employer and employee
(3) Receipt of only cash salary by employce
(4) Receipt of only prerequisites by employce

MEH AT B Tod A o &Y 3 Rrw, g8 HEEF T
(I) P T awterdl & & g weigr 721 @

(2) M IR e B @y g\ @

(3) FHAY ERT Bt Abg A = T A

(4) FHE8 SR B gEieed 1 wRy @

71. The base of tax under the head 'Income from House property' is :

(1) Rent Received (2) Annual value
(3) Standard Rent (4) Municipal value
‘TE HaRT @ 9’ e B siia &Y #r s D
(1) s fehzran (2) T geo
(3) A B (4) TRUTiTeRT g
72. Deduction regarding tele-communication services is allowed under the following
Section :
(1) Section 35D (2) Section 35 AA
(3) Section 35 ABB (4) None of these
REAR qgredt & dEd F wdl a9/ & ded oEg ®
(1) a1 3531 (2) g1 350Q
(3) &ra 35 waEh (4) 377H | @R Tl

73. Bond washing transaction is a method :
(1) To save income tax
(3) To show less income
s s A=9-3F ush fafy 2
(1) EHT F=M A (2) FH AFHL ad &l
(3) HF I @™ & (4) omg @ el IR 98 F@ #

(2) To pay less income tax
(4) Not to prepare return of income

PG-EE-June, 2023/(Commerce)(SET-X)/(A)
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[ oss ot one head of mcome can be set- ot agamet the following

CHY Agaimst head ‘salares

() Income from any other head

"y

S v e D epant ) eadetEa @ Qe e stk fnar o Hober 2

(D) Aaa Mda @ gqma
(D) ) s gy Qo

() Apanst head 'Income from other sources

¢ Nonce ol these

() ot N A e A e
(h el A ad il

Requitement of furmishing PAN (o N deductor s mentioned m [ollowing Scction ol

Income Tax At

(1) Scecuon 200

(3) Sechion 200 (AA)

SHEE RS D I B TS AN RIS NI SN
INFLTHAT F Jera by 1 @
(1) w1 200

(3) "I 206 (uu)

(2) Scction 2006 (A)
(-h) Nonc ol these
qran N et Bdddd B O uEgd & D

(2) {1 206 ()
) 2 A Prg el

A Hindu undivided tamily 1s for assessment purpose .

(1) An independent unit

(3) A form of partnership

(2) A branch of a trade
(4) None of these

uap foig stfasnia afiar qeaiwd 3ged @ e @

(1) Uh &dA bl
(3) A1AET @ U &

(2) FIX &l Th LTET
(4) 371 A Py Ll

Which of the following is not a part of industrial policy ?

(1) Tartreduction

(2) Subsidies 1o industny

(3) Change in the corporate tax regime

(40 All of the above

fpferfera A @ @ @ ofenfire ffa &1\ F&@F 8 v

(1) 2ft® A7 w9

() 3T B gfeaS)

(3) FNRE HY FgE H gEd™
H Ok gt

PG-FE-June, 2023/(Commerce)(SET-X)/(A) P.T.0
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78. Monectary policy affect the

(I) Reserve and unemployment (2) Money. supply and interest rate
(3) Taxes and exchange rate (4) Stock, price and minimum wagce
ofess Ay .. B THa He B
(1) RS o RAsmh (2) ga1, smyfd ofw @t @
3) ®X 3R faftmy =< (4) W, gea 3N gAaH 7oLl
79.  Union of the following items is mof included in a country's balance of payments ?
(1) Shipping services (2) Interest received from abroad
(3) Import and export duties (4) Tourists expenditure
FPel 391 & spram wvge  FrefeRad w4t @ g e 787 & 7
(1) fafeeT /e (2) feRer & wrd &
(3) oA A Frafa e (4) THedt & @
80. Business environment is encompassed as the climate or sct of conditions, cconomics.
social or institutional in which business ............... are conducted.
(1) Operations (2) Customs
(3) Rituals (4) Meetings
FRETY AW Aqdrg a1 91l & d, FAURHA, AR AT GRET & w9 A
gtae @ e saam L st fpe S 2
(1) Eere= (2) €1 I
(3) FHF= (4) 925

81. Today Business is characterized by ............. .

(1) Diversification (2) Loss
(3) Fight (4) Conflict
AN FFE™ H Qe L 2l

(1) fafadiemzon (2) =
(3) TR (4) wod

PG-EE-June, 2023/(Commerce)(SET-X)/(A)



82. Which of the following is por 4

part of the business environment of business
(1) Customers

(2) Suppliers

(3) Competitors (4) None of the above

ﬁ’?ﬁw’f@aﬂﬁﬁq‘mwémqﬁawﬁwaﬁ%?

(1) PIESH (2) gﬂgﬁq;a-j
(3) wfceh (4) ST F A F 47
83.  The Government policy for sick industrial units aims at -
(1) Revival (2) Reconstruction
(3) Rehabilitation (4) All of these
w%a@%%waﬁ%maw%:
(1) gToarR (2) gt
(3) gatg (4) 3 |+t
84. Name the policy that accords with expenditure and taxation policies decisions of the
government :
(1) Monetary policy (2) Fiscal policy
(3) Labour market policies (4) Trade policy

w%wwwﬁw%m@mm*ﬁﬁﬁ%ﬁ@%w
o

(1) Aifsp Ay (2) TR ey
(3) =™ R “fergt (4) =R ifey

85. ... is derived from both financial accounting and cost accounting,
(1) Accounting Theory (2) Responsibility Accounting
(3) Social Accounting (4) Management Accounting
............. faeia i 3R @rra d@ied a9 @ gre Ay 2
(1) @ fasta (2) ITERE SRy
(3) gmIfSTR T (4) gEeT Sy

G-EE-June, 2023/(Commerce)(SET-X)/(A) nhe
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86. Capual gearing ratiois ...

(1) Market Test Ratio (2) Long-term Solvency Ratio

(3) Liquid Ratio (4) Turnover Ratio
Few el AU ... a8
(D) SR 90Qe91 s1qurg (2) drefeprferer Mer-&rHaT STHT
) TS ™ (4) THINGRT AT
87. L;Jsh lost in operations ... equal to the net loss as reported in the Profit and |
(1) should be (2) must be
(3) ¢an be (4) 1s not
W@Tﬁ@ﬁﬁﬁﬁéaﬁ@g@aﬁ%wwﬁW#n
BN . 1
(1) B =g (2) 3YgeT B+ =fsu
(3) & == 2 (4) TE B

88. Sharecholders’ wealth in a firm is represented by :
(1) No. of emplovees in the firm
(2) Book value of the firm's assets less the book value of its liabilities
(3) Retained eamings
(4) Market price per share of a firm's common stock

T &H 7 i@l F g9 F wiaite e sar @

() B F FERI F oI ]
2) T F FON F I T IS T B 9 g $ gy

(3) g =912 @ 5
(4) TF T B FEE DT P I TR TR 59 B ary

PG-EE-June. 2023 (Commerce)(SET-X) (A)



89. In order 10 calculate w cighted average cost ol capital, weights may be based on
(1) Market values () Book values
(3) Both (1) and (2) (4) None of these
T B 9Ra Nga ama ) v e @ e, s s @) B
(1) IR g @ (2) Q&IH Hed 9
(3) (1) 3 (2) AF W () N Q P Tl

90. Ifthe cut-ofT rate of a project is greater than Internal Rate of Return (IRR), we may -
(1) Wait for the IRR 10 increase and match the cut-of! rate
(2) Accept the proposal
(3) Reject the proposal
(4) Be neutral about it

gfe e oS &5 #e-oife 23 ufawa &5 ofiaftd 27 (IRR) @ aifas 2, )
B8y

(1) IRR & F24 37 Fe-3% ¥z F gUa 89 & TN FHY
(2) gETE &HT FHE

(3) 9= F FHEFT F

(4) 3EF a7 H dTg TE

91. "A bird in hand is better than two in the bush" principle is related to which theory of
dividend ?

(1) Walter (2) MM

(3) Gordon (4) Residual

cwry H us fafzm andl 4 @ A Qedy B A9 ATgiyT & e Ryegid @ gatad
g ?

(1) aey (2) THo THo

(3) T2H (4) afere
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92. What are current assets ?
(1) The assets that can be sold easily by a company
(2) The assets that are converted into cash within a _
(3) Assets that are held by the companies to pay off the current I
(4) All of the above
=1 afd @1 el & 7
(l)aﬁqﬁrﬁsﬁmm‘wﬁmaﬂﬂﬁaaﬁﬁwm%
(@) & waRet S o ad B sy & e Twd A aRara @ T

(3)Q¥ﬁwsﬁaﬁqﬁﬁmaﬁqmaﬁﬁﬁwwwﬁ%%ﬁr@

period of one ycat
abilitics

SIS
(4) SIA<H TN
93. The process of financial audit begins with :
(1) Planning (2) Reporting
(3) Testing (4) Internal control
forefrm aideror @ AfkaT gE Bl ©
(1) = 3 are (2) R & @

(3) A& B Gg (4) oTdRes fE=EeT & a1

94. The objective of the ordinary audit of financial statements is the expression of an
opinion on :

(1) The fairness of the financial statements

(2) The accuracy of the financial statements

(3) The accuracy of the annual report

(4) The balance sheet and income statement

i REolt & AT e & Iged i UX U AT 1 s ©
(1) faxir feeRen &1 fsTeran

(2) fordr Faeresit =1 aRgpesa

(3) arftfer RAIE &l g

(4) | ofie IR o fagwon

PG-EE-June, 2023/(Commerce)(SET-X)/(A)
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95. The audit conducted to check and examine the efficiency and effectiveness of

management is called ................ audit.

(1) Management (2) Cost

(3) Energy (4) Safety

U @l Tl SR woashieer @ o X 9dEr #Ha & e fRn Tg
SHDBETOT B ... STPeTOT HEl AT 2 |

(1) gdes (2) drTd

(3) St (4) g

96. Which report will be submitted by an auditor, if he is dissatisfied regarding the facts
and informations ?

(1) Clean report (2) Management report

(3) Qualified report (4) Cost report

el R gEArel A SrEe BN W AaiEs Hi-dl RAE wegd BT 7
(1) @=s Rare (2) w&ge Rard

(3) arg e (4) @ fare

97. Process of checking the evidence of the entries is called :

(1) Verification (2) Observation
(3) Vouching (4) Inspection
gRaftedt & arg & sirg @ 9k Heerdl @

(1) &camad (2) FHgAIHA
(3) arsfET (4) et

98. Consider the following activities :

(I) Valuation (II) Verification (1IT) Vouching

The correct sequence of the activities undertaken by an auditor is :
(1) IL LI (2) LI 1

(3) IL 1L, 1 (4) LII.III

PG-EE-June, 2023/(Commerce)(SET-X)/(A) P.T. O.
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99.

100.

Fr=afefaa rarraal o3 g FHIeTg

(D qFHA (1) @99 (1) qrafei

T TG TOEEH R A 7S RfAfEr o gl mw Lo
(D HOI 1. 11 (2) ML 11, 1

(3) I 11, 1 (4) L1111

The main object of investigation is :
(1) To discover errors and frauds (2) To prevent errors and frauds
(3) To verity statement (4) All of the above

AT FH P I D

(D I fx Irargs) & Qo

(2) FRT x PraErwd Fr ApAr

(3) FUF B FEOAT FHIAT

(4) IO g

Before the work of audit is commenced. the auditor plans out the whole of audit work
is known as :

(1) Audit plan (2) Audit note

(3) Audit risk (4) Audit program

ITPETOT BT HF & 81 d U8, iheieh Yol STHeT Hd FH Ao a=1a g
FEATdT &

(1) STHeToT IISTAT
(3) 3feperor SARIH

(2) Speror faaxer
(4) SfHeToT HTHHH

PG-EE-June, 2023/(Commerce)(SET-X)/(A)
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What is Business ?

(1) Buying and Selling ol goods (2) Commeree and Industry
(3) Trade (4) None of these
g R B 7 ’

(1) aegedl @ Ha-faspa (2) @iy &R FEnT
(3) SR (4) &% q g 7T
Who is known as father of scientific management ?

(1) F. W. Taylor (2) Max Weber

(3) Henry Fayol (4) S. George

S TEUT H STHH B wer ST § P

(1) Tho s=go X (2) BT &R

(3) U A ' (4) THo SN

Management is called a process because :

(1) Itis applicable to the manufacturing process
(2) Ttis relevant for social organization

(3) Itinvolves a series of action

(4) All of the above

USie I Weh HfhAT el Sar 8 Hifh ¢

(1) gz AT 9T 9X @F] e @

(2) I8 gHfST e & g urEies 8
(3) zwH foparett @l Uh =fEmr wfher §

(4) SW=6 G

Which among the following involves in planning process ?

(1) Selective of objective - (2) Determine the way to achieve objective
(3) Both (1) and (2) (4) None of the above

Fr=falaa # 9 9 e afear & anfe @ 7

(1) SEea =1 =99 (2) IELT W< HIA B AUD w1 FEROT
3) (1) & (2) &t (4) IWAH | | Dg &l

PG-EE-June, 2023/(Commerce)(SET-X)/(B)
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5.

First step in organizing is

(N Lstablishing anthority leadership

(2) Coordination of activities

(3) Grouping of Jobs into departmentation
(4) Division of work

srtereRe ¥ ugen =X 8

(1) Wi AgE B I

(2) Rl & aF=y

(3) R & SR B AL

(@) FE FH A

............... is the process of differcntiating between applicants in order to identily and

hire those with a greater likelihood of success in a job.

(1) False negative error (2) Training

(3) Sclection (4) None of the above

........... :ﬁwﬁﬁwaﬁmﬁmaﬁﬁﬁﬁﬁwmﬁ
%ﬁgﬁmﬁ%maﬁaﬁ%@amﬁﬁm%l

SE

(1) T AHHD e . (2) wiSrereT

(3) =gq (4)A@ﬁ?ﬁﬁﬁ€ﬁl§:{‘eﬁ

According to Fredrick Herzberg oo are clements associated with conditions

surrounding the job.

(1) Hygiene factors (2) Motivating factors

(3) Economic factors (4) Bnvironmental tactors

e eofa & HFATL .ooveeess wrl & srau @ Rl ¥ 93 o« )
(1) w=3d] &I (2) A HIEh
(3) S Fe (4) waerelr e
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8. Contingency theories of leadership has been developed by

(1) Fiedler (2) HMersey and Blanchard
(3) Hardy (4) All of the above
T B orRes Reia @ Rl fear mr ®
(1) fsax 5@ 2) &4 &R =feE B[
) & ' (4) IUAH Gl

8. Which of these should not be avoided for effective communication ?
(1) Noise (2) Planning
(3) Semantic problems Y Wrong assumptions
T W $ R g § RRA A€ < S Aey 7
(1) X | (2) AR
3) yHtes v (4) TR RO

10. The three stages of the change process are :
(1) Unfreezing, Adjustment and Refreezing
(2) Adjustment, Unfreezing and Refreezing
(3) Adjustment, Unfreezing and Re-adjustment
(4) Adjustment, Re-adjustment and Unfreezing
afady aftear & d9 =31 § ¢ '
(1) STHAIRTT, Tesiere SR Qs
(2) TsSTEeHe, STSHINRT ST AT
(3) USSTEEHT, STHINFT AR J-Tssede
(4) TssEie, d-Tssrede SR SRl

11. * "A bird in hand is better than two in the bush" principle is related to which theory of

dividend ?

(1) Walter (2) MM

(3) Gordon : (4) Residual

oy B usp RafeEr oS # A § Jsa¥ 87 WA AT & e Reia | e
g7 .

(1) greX (2) THo WHo

(3) TEA (4) emafrse
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12.  What are current assets ?
(1) The asscts that can be sold casily by a company '
(2) The assets that arc converted into cash within a period of onc. yC'd'r' ‘
(3) Asscts that are held by the companics to pay off the current liabilitics
(4) All of the above

arg |y @ el ¥ 7
(1)%?@%ﬁ®ﬁﬂﬁaﬁq¢ﬁmm%aﬁwaﬂ%ﬁ%
(z)amﬁﬁ@aéaamm%wmﬁqﬁaﬁaaﬁ% )
0) @ doRe N TRz ada R @ g w P T

STRH ©
(4) SIUH Gl
13. The process of financial audit begins with :
(1) Planning (2) Reporting
(3) Testing ; (4) Internal control
frciier Sideror &1 ufar @ B T o
(1) e & | (2) faids & a
(3) TUET & A1 (4) Aiafies M=o & A

14. The objective of the ordinary audit of financial statements’ is the cxpression of an
opinion on : '

(1) The fairness of the financial statements

(2) The accuracy of the financial statements

(3) The accuracy of the annual report

(4) The balance sheet and income statcment

P ROl § AT ST N Seed R U T Al SAeARh ©
(1) forcfra Rra=elt <1 frrsqerar

(2) R ferereett =61 o

(3) @iffer FRAE al RS

(4) e fie IR ofg faaxer
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15, The audit conducted to cheek and examine the cfficiency and cffectiveness of

management is called .. audit.

(1) Management (2) Cost

(3) Energy (4) Salety

gy H T SR gwEsfimar @ st oiR wleer s & fw g e
STHET Bl evvvvnnnnnnnn.. S{BETOT T AT B

(1) 9= (2) SWTe

(3) S (4) gem

16. \\'“hi.cl{rcport will be submitted by an auditor, if he is dissatisficd regarding the facts
and informations ?

(1) Clean report (2) Management report

(3) Qualified report (4) Cost report
‘aﬁﬁﬁwﬁﬁwaﬁwa@qﬁ%aﬁ?—ﬁﬁﬁwm ?
(1) =5 R (2) wsige Rard

(3) arg RAE (4) @t Rard

17. Process of checking the evidence of the entries is called :

(1) Verification (2) Observation

(3) Vouching (4) Inspection

qRfea 3 qrg & Sifg @ dfEhaT FHedr 8
(2) STEAEhT

(1) F&m9d
(4) Frerer

(3) =T

18. Consider the following activities :
(IT) Verification (I11) Vouching

e activitics undertaken by an auditor is :
(2) UL 1L, 1
4) 1,11, I

(I) Valuation
The correct sequence of th
(D) 1L L 11
(3) I, 111, 1
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PpfRaa frasemdl uX faenr PRI 2
' grafeiT

() gegiew (1) wes (1) | b

@é@qﬁaﬁsmaﬁmjﬁmaﬁrﬂ?ﬁ

(1) NL 111 2) 11, 1L, T

(3) LTI, 1 (4) 1,11, 11

' in obj investigation is :
19. The main object of in g ids

(2) To prevent €rrors and fr

(1) To discover errors and frauds
(4) All of the abovc

(3) To verify statement

ST H T IeT B -

(1) et oI ararerdY &1 @
(2) Ffeat oI fraret B AhT
(3) HAT B AT BT

(4) SUA=H 9N
20. Before the work of audit is commenced, the auditor plans out the whole of audit work

is known as :

(1) Audit plan (2) Audit note

(3) Audit risk (4) Audit program

HEART B -

(1) SfHerer o (2) Siperor faaor

(3) 3icheror SRy _ (4) Sieheror Hrdspy
21.  The base of tax under the head 'ncome from House property’ is :

(1) Rent Received (2) Annual value

(3) Standard Rent (4) Municipal value

TE TG F M Ml B SfriT w7 b o @

(1) =T fepran (2) aites we

3) A% feRvgT

®) (4) TTRITRTRT woey
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22. Deduction regarding tele-communication scrvices is allowed under the following

Section :
(1) Section 35D (2) Scction 35 AA
~(3) Section 35 ABB (4) Nonc of thesc
EAR [ B Gy A e Fr=faRed o & dea ergEa ¥
(1) g 35S (2) &RT 35 Q@
(3) T 35 TR (4) TH QA Hg AL

23. Bond washing transaction is a method :
(1) To save income tax (2) To pay less income tax

(3) To show less income

(1) STHT F9 Hi

3) HH I @ it

(4) Not to prepare return of income

(2) /A AFHT a4 &l
(4) o= FH fgaeel JgR T8 B &l

24. Loss of one head of income can be set-bff against the following :
(1) Against head 'salaries' . (2) Against head 'Income from other sourccs'
(3) Income from any other head (4) None of these
ST B uH MdE B gHAE B FrARTEG B Few Je-ofts BET ST GwdT §
(1) a1’ M &> daHA (2 ‘oTT Fdl § o e & H"EA
3) R o= s & 1™ 4) 399 q Hg Tt

25.

Requirement of furnishing PAN to tax deductor is mentioned in following Scction of’
Income Tax Act :

(1) Section 206 (2) Section 206 (A)
(3) Section 206 (AA) ‘ - (4) None of these

gy efafEe @ FrafRad aRT # @Y @akihal U SR A
ST hl Ieaid FHAT 7T B -

(1) = 206 (2) =mr 206 (3)
(3) =T 206 (TW) 4) 99 |q B St

PG-EE-June, 2023/(Commerce)(SET-X)/(B)



26. A Hindu undivided family is for assessment purpose :
(2) A branchofa trade

(1) An independent unit
(4) Nonc of thesce

(3) A form of partnership
g g SR aRar geriea sge & g @
(1) U& =as s (2) = @ Tk ATET

(3) AR B TFH TA 4) 3T @ g T

27. Which of the following is not a part of industrial policy ?

(1) Tariff reduction

(2) Subsidies to industry

(3) Change in the corporate tax regime

(4) All of the above '

Frefafad & Q@ Si-ar e ARy & o mr F87 e 7

(1) 2R®% & =N :

(2) TERT FH GRSt

(3) HMURE HY G H &

4) STRE | T ’

28. Monetary policy affect the .............. X

(1) Reserve and unemployment (2) Money, supply and intcrest rate

(3) Taxes and exchange rate (4) Stock, price and minimum wagc

Afges AT ....oennn. T g9 H B
(1) e/ SR s (2) &, SRt ol% =T &%
(3) &Y ofiX fafra &% (4) i, ge IR AaH Aol

Union of the following items is nof included in a country's balance of payments ?

29.
(2) Interest received from abroad

(1) Shipping services
(3) Import and export duties

fepddl a1 & T Ao H il wet s wE i 987 ¥ 0
(1) fRrfge @erd 2) forRer Q@ W ST

(3) ST SR T e (4) et o =

(4) Tourists expenditure

- PG-EE-June, 2023/(Commerce)(SET-X)/(B)



30.

31.

32.

33.

Business environment is encompassed as the climate or set of conditions, cconomics.

social or institutional in which business ......ov... arc conducted,
(1) Operations (2) Customs
(3) Rituals (4) Mccelings

(1) F=mes (2) €T

(3) HHBIS (4) Y&

The method of moving average is used to find the :

(1) Secular trend ; (2) Seasonal variation

(3) Cyclical variation ' (4) Irregular variation
@Wﬁﬁ%wm@wﬁwﬁmmﬁﬁmw%
(1) =HFRuE ggfy (2) Al SEwE

(3) =THE R=yar (4) e e

Two unbiased coins are tossed, what is the probability of getting at most onc head ?
(1) 3/4 ‘ 2) 1/6

3) 12 : 4) 173

T SR faeepl & I\ ST B, aﬁﬁ?ﬁ@faﬂzﬁw%ﬁaﬁaﬁmﬁw
FTE?

(1) 3/4 - (2) 16
(3) 172 , 4) 173

When the share are forfeited, the share capital account is debited by :

(1) Nominal value of shares (2) Called-up capital

(3) Paid-up capital ' (4) None of the above

ST el BT BXOT Y feRr S 8, @ ofer OO @ @ Sfe Rer smar @
(1) I &1 AA= g E)T (2) AR gst any

(3) we< S BN (4) IWE 7 Q g T8

PG-EE-June, 2023/(Commerce)(SET-X)/(B) . P.T.O.
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st investment ig

o . " . S'ltlon Or mVLS S
34. The balance of Sinking Fund Investment AJe afler the realise

transfered to @
(2) P&L appropriation Nc

() P&L A/c
(3) Debenture A/c (4) Sinking Fund A/c ‘ R
R
%Tﬁaﬁ?ﬁ%aﬁﬁﬁm—ﬁmﬁaﬂmaﬁmtﬂﬁwﬁﬁﬁa I
SraT 8 —
(2) e AT grar

(1) S -81 @rar

(3) o9 @ (4) emerr-fafer @

35. For calculation of the value of an equity share by yield method, information is:required
regarding : '

(1) Normal rate of return (2) Net assets of the business

(3) Face value of the share (4) Market value of the share

dee RfY BT o SREE SEX B gew @ O @ RiQ e bl SRR
BT B - v

(1) I19El Hl G &YX
(3) AT 1 HAlha TEI

(2) Faa™ B & G
(4) $rEX N TR TH

36. Dividends can be paid by a company only out of :
(1) Current year's Profits (2) Capital Redemption Reserve A/c

(3) Securities Premium A/c (4) Reserves and Surplus

FHI ZRT BT ATHIRT BT YA [HAT ST FH B
(1) =g a9 =1 A4 (2) goTt A STRfEE @rar

(3) wfaygfa SiEaH @rar (4) X AR AW

The accumulated losses under the scheme of internal reconstruction are written off

37.
against :
(1) Share Capital A/c (2) Capital Reduction A/c
(B) P&L A/ (4) None of the above
Fiafes gArETer @ Ao & ded Wi Sl Bl 9g ' J S o ©
(1) =3 it @rar (2) YTl 2Kl e
(3) @ Tg '+ @ (4) SWR<b # q PE G

PG-EE-June, 2023/(Commerce)(SET-X)/(B)
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38. Decbenture holders having a floating charge have priority in payment over :

(1) Preferential ereditors (2) Sccured creditors

(3) Unsccured creditors (4) Nonc of the above

genfeT Tt A O R @ g 7 srerfrepar € ot @

(1) e AR (2) I e

(3) SRR a_R (4) SRE H A BI5 AL
39. Provision for doubtful debts in case of standard assets is to be made of :

(1) 1% (2) 0.40% 3) 5% (4) 10%

AE AR & A ¥ Wiy wor & g aEas Rear o ®

(1) 1% (2) 0.40% (3) 5% 4) 10%

40. Issue of bonus shares by the subsidiary company out of capital profits will :
(1) Decrease cost of control
(2) Increase cost of control
(3) Have no effect on cost of control
(4) Increase capital profits
TE™eh HU-l SR ST A § F di9d S8R ST AT
(1) FE=ror &l @ o 1 e
(2) FriEreT % @ § ghe @@
(3) FiEer @ AR 9X B gHE e g ®

(4) IS @ 7 gl @R

41. How many fundamental clauses are contained in the Memorandum of Association of a

company ?

(15 (2) 6

(3) 7 | 4) 8

T BUAI FH AHIEH ot CEIRIEIE 7 fha Aiferes ©s ffea & 2
(1) 5 (2) 6

3) 7 “4) 8

PG-EE-June, 2023/(Commerce)(SET-X)/(B) P-T..O.
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i ‘law. it is called
.+ by opcration of 1a
42. 1f the ownership of share of a company goes (o another by op

as
(1) Transmission (2) Transfer
(3) Both (1) and (2) (4) Nonc ol these

uﬁ%@@ﬁ%@wmwﬁawaﬁmémm%mﬂaﬁ”
Y, @ HE @ D

(1) §=RoT (2) ETICT
() (1) &R (2) |/« @) o7 q P TE

43. Name of the member of a company is struck off from the register in casc of :
(1) Issue of shares (2) Bonus issue of shares
(3) Issue of share warrants (4) None of these
@Eﬁﬁ%wmwﬁw%mw%ﬁg%%ﬂﬁ:
(1) 3t =1 FRtEe (2) st @1 e A
(3) X TRe H FEEA (4) 375 | Hs el

44. Liability of director of a company is towards :
(1) Government ' (2) Public
(3) Company Law Board (4) Shareholders of the company
us FHOH B PR W and e B AR ST T
(1) ¥ (2) ST
(3) HUAT & TS (4) HUAT B AARD

45. Which of the following is the meeting of shareholders ?

(1) Annual General Meeting (2) Extra Ordinary General Mecting
(3) Class Meeting (4) All of the above

Prfeiag § @ @9 JIXIRH B 956 § ?

(1) aiffer 3TH ok (2) STHETHRET AW JoH

(3) e o (4) SR woft

PG-EE-June, 2023/(C0mm(;rce)(SET-X)/(B)



- 46, As per Companies Act, 2013, the procedure for winding up of a4 company can e
initiated cither :
(1) By the tribunal (2) Voluntary
(3) Any of the above (4) Nonc of the above
Fr ofFEE, 2013 & SFER, fFd FTh & FEE ot @ g A A
ufRr @ ST W B

(1) AR &R (2) Wees
(3) SWH 7 q H (4) ITIE T B A

47. Human Resource Management is amalgam of .............. ;
(1) Job analysis, recruitment and selection
(2) Social behaviour and business ethics
(3) Organisational behaviour, personal management and industrial relation
(4) Employer and employee

(1) T fasaer, st o) =ge
(2) THEINR FaeR AR SAGaNges A
(3) TIeATHS FaER, AT YEET X ARG Iy

(4) A AR e
48. HRM can be understood as process of :
(1) Processing (2) Developing
(3) Maintaining people (4) All of the above
TEARTH &1 fhe UFRT & ©9 F wHE S Hhl § 7
(1) ST (2) Reprash
(3) @I &1 ST T (4) ITH TA

49. Which of the following is a benefit of employee training ?
(1) Improves morale
(2) Helps pcople‘identify with organizational goals
(3) Provides a good climate for learning, growth and coordination
(4) None of these
PG-EE-June, 2023/(Commerce)(SET-X)/(B) P. 1.0,
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50.

51.

52.

. - FE S ?
Fesfaifag 3 @ as-ar astard wiRmer @ art o

(1) §NES @I T

2) NN A TS WA B e HIA A GG FC T

(3) TN, Waﬁw%ﬁm@%aﬂwmm?
(@) §H | Hg TE

Recruitment logically aims at :

(1) Attracting a large number of qualified applicants
(2) Offering enough information to unqualified persons
(3) Encouraging potential applicants

(4) All of the above

i @9 F Wt @ @ T

(1) SIS §&1 § Grg TR H SR HIAT
(2) ST T ARKAT B qATT SIBA 34T

(3) Hiaa eTEEsht B HedTRd HIAT

(4) Su<6 |+

Every promise and every set of promises, forming the consideration for cach other. is
called as :

(1) An agreement (2) A void contract

(3) A contract (4) A voidable contract

IA% gE9 AR Tl B TS qHEE, Gﬁ@gﬁ%%%ﬁqﬁwaﬂﬁ%
FHedld © :

(1) Tk awArar (2) TH I STEY

(3) Q& ST (4) TH BN \'ﬂ":l,‘sia

A 'contingent contract' is a contract to do or not to do somcthing,
collateral to such contract :

(1) Does or does not happen (2) Happened or will not hdppt,rl

(3) May or may not happen (4) None of the above

Uh AHHAS STPHE’ P B A T FA B SEY D, R EESIIS|
SrgesT 3 fore AR § - | S
(1) &xr & ar 781 aar B (2) &1 a1 W&l &

(3) B FhaT B g1 A& & Hepar B (4) SW<F 7 QA /L T8

if some cvent
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53. 1tis necessary in bailment to transfer of

(1) Property (2) Goods
(3) Ownership (4) Possession
SIS TR S P TIAHT BT STEO B

(1) ¥yl (2) =T

(3) @i (4) e

15

54. Which Scction of Consumecr Protcction Act, 1986 statcs about the objects of the

Consumer Protection Councils ?
(1) Sec. S (2) Sec. 6
(3) Sec.9 (4) Scc. 11

STIRRT GXETOT ST, 1986 @51 H-A 9T SUNRHT GXE0T gfuEl & 32

P IR H A e ?
(1) a1 5 : (2) "RT6
(3) g1 9 (4) g7 11

55. Essential elements of a partnership include :
(I) Agreement
(1I1) Sharing of profit (IV) Business
(V) Association of two or more persons
(1) I, 11l and V only
(3) LLII,IV and V only
gEETd & Sraggd adl 7 enfe €

(I) |REAE! (1) T Toidl

(111) &1y &1 dear (1V) &R

(V) 2 ar & 4§ sifyes agfenal @ Hy
(1) Faa 11 &k V
(3) &aer 11,1V 3fiT V

PG-EE-June, 2023/(Comnterce)(SET-X)/(BB)

(II) Mutual Agency

(2) I, 11, V only
(4) All of the above

(2) @aw 1,1,V
(4) IUA=H G4
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57.

58.

59.

............. cannot be dishonoured by non-acceptance.

(1) A bill of exchange or cheque

(2) A promissory note or a cheque

(3) A promissory note or a bill of exchange

(4) None of these

............. ﬁeﬂiﬂ%mw@(adl«ﬂﬁmmm%'
(1) R_fFg o =1 3%

(2) TF I99 95 AT TH <6
3) Tk g9 9 1 fafvmg o

4) FH q B TE

The position of the finder of lost goods is that of :

(1) Time owner (2) Creditor
(3) Bailor (4) Bailee
g g3 K] B AT B B Ry kAt B

(1) <=9 AR (2) dFER
(3) SHFEER (4 SAER

An application under RTI can be sent by :

(1) E-mail , (2) Post

(3) Delivered personally (4) Through any of the above means
SREAE & qed Th e fhasd &R’ IS ST §ehal & 7

(1) E-Fa : (2) 9&

(3) =T w9 | fadaiRa (4) SWh Rl O Hrew Q@
Which new type of company was introduced in Companies Act, 2013 ?
(1) One Person Company ‘ (2) Two Person Company

(3) Limited Liability Partnership (4) Public Private Partnership
wul AfufEH, 2013 § f6d A¢ gR @ HA AT ) w7

(1) T aAH BT (2) & =i FHon

(3) €ifa Tar ArTETd (4) wrESIfE Mol ety

PG-EE-June, 2023/(Commerce)(SET-X)/(B)



* 60. What is the minimum paid-up capital required to incorporatc a public company ?

(1) Rs. 10 lakhs - (2) Rs. 50 lakhs

(3) Rs. 1 crore (4) None of thesc

T SR HIN B AT FA F R TE9TH AT daw ol F & 7
(1) 10 SR’ B9 (2) 50 «rE BYAT

(3) 1 HIS BT (4) 5% @ B

61. In Rowan plan :
(1) It provides a guarantee of minimum wage
(2) Management share a percentage of bonus
(3) Inferior and fresh workers are not penalized
(4) All of the above

(1) I8 =LOaq Asigd & TMRE yarT &idr 8
(2) gdE S99 BT AfaeT 9En ST
(3) B9 AR AT HHRAT A &fed & frar T @

(4) SUA=h G 0 il
62. Time wages are paid on basis of :
(1) an hour (2) aday
(3) aweek (4) any 01"lhc above
qrEry ASIEd BT YA fhEd SaR W T Sy ® 7
(1) T =1 (2) Tp f&F
(3) TH A<E (4) SUUH § F HE 0
63. Identify the major actor of industrial relations from the following :
(1) Employers - (2) Unions
(3) Government (4) All of the above
Frfeaa & @ oTENfes dddf & age @t @ e Gk -
(1) Frdrenr (2) aFRR
(3) Fw&mIX (4) IUUH Tl

PG-EE-June, 2023/(Commerce)(SET-X)/(B) P T..Ok
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64.

65.

66.

67.

B

v industrial matters
«and ¢ ce ol any 11
The conflicts and disputes between employers and cmploy

are known as : '
(1) Industrial disputcs (2) Human relation
(3) Conflicts relation (4) All of the above

R S MNP R & Pl ol R & e @l o |
M= =T F S oS R

(1) STEfes fare (2) AEE e

(3) d=a Hey (4) SUAH G

When the value in a series are not equal importance, we calculgtc the :

(1) Arithmetic Mean (2) Geometric Mcan

(3) Weighted Mean (4) Mode

S Rl ofaar § 99 e mew e @ €, A B9 IR B §
(1) i Areg (2) ST AT

(3) wia AT \(4) RIENED

What is the value of the first quartile for observation 15, 18, 10, 20, 23,28, 12,16 ?
(1) 17 ) 16

(3) 12.75 | ) 12

15, 18, 10, 20, 23, 28, 12, 16 Maroii & fQ werm =i &0 A9 R0 & °
(1) 17 () 16

3) 12.75 4) 12

If the beta one is 9, beta two is 11, then coefficicnt of skewness is :

(1) 0.589 | (2) 0.689
(3) 0.489 (4) 0.889
AT drer weh 9 B, der @ 11 8, O R @ e ®
(1) 0.589 | (2) 0.689
(3) 0.489 . (4) 0.889

PG-EE-June, 2023/(Commerce)(SET-X)/(B)
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68. The correlation coefficient is used to determine :

(1) A specific value of the Y-variable given a specific value of the X-variablc

(2) A specific value of the X-variable given a specific value of the Y-variablc

(3) The strength of the relationship between the X and Y variables
(4) None of these

WWWWW%%&%W%%QWW%
(1) Y-=X =1 T faitre 79, Rar @1 @ X-9) & T @R 99
(2) X=X &1 o [ftre 7, Rar @ ¥ Y- @ uw AR 9w

(J)X@TYW%eﬁawaﬁ@?n
4) 37° q HE 7L

.69. Inregression, the equatlon that describes how the response variable (Y) is related to the

explanatory variable (X) is :

(1) The correlation model

(2) The regression model

(3) Used to compute the correlation coefficient
(4) None of these

i EE H, Hﬁwﬁaﬁm%%qﬁmmw)wm(m%
HY Tt 8 ?
(1) "edsy dfsd
(2) uieFm™Es HAisd
(3) TEHT YOTH H TIHT DA B AL ITART BHAr stem 3
(4) 379 q Hig S
70. The best average for constructing an index number is :

(1) Harmonic mean (2) Arithmetic mean

(4) None of these
Th FAhih I b g Farad T ® -

(1) sUeTh AT
?3) F«mﬁrc’ﬁtr HTe

(3) Geometric mean

(2) STHTORTE ATy
4) 37 q HE Tt
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72.

73.

B

; . : Jati i St me y
is a unit of product, service or time in rclation to which cost may be

-----------------

ascertained.
(1) Budgeted cost (2) Unit fixed cost
(3) Unit cost , » (4) Cost unit

................ SwrE, T A GHF &) O S © foras dad H AN e
AT ST qhaT B

(1) S5 ST (2) geh1E M= AT

() THE AFE . (4) WFTT 318

Two important opposing factors in fixing the economic order quantity arc ........... cost
and the ........... cost.

(1) Ordering, Storage (2) Storage, Scrap

(3) Ordering, Re-ordering (4) Storage, Re-ordering

........... AN B | , Covr

(1) TR, &R Q) BRS, B

(3) ofER, Q-sfisx (4) TReT, T3l

Idle plant capacity means :

(1) Practical capacity minus normal capacity’
(2) Maximum capacity minus actual capacity
(3) Practical capaéity minus actual capacity

(4) Maximum capacity minus practical capacity

fAferg 9d=r emmdar &1 a7ef B ¢

(1) A &Hdr J39 ArH &l

(2) SIfTHay eHar AETd dIdides &Fdr
(3) =Hgee eHar AR aR<ided &war
(4) AfYHaH emar AIZAY AEEIS eHdr

PG-EE-June, 2023/(Commerce)(SET-X)/(B)
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74. Under-absorption of production overheads is
expenses arc

and over-absorption of such
.............. while reconciling costing profits with financial profits.
(1) Added, Deducted

(3) Added, Multiplied

-------------

(2) Deducted, Added
(4) Multiplied, Deducted

AR T D W T e ar frw eed aw o@E Suer
SH-STAMT .. T =R @ SAH-SEMIIT ... g1

(1) ST MW, geiy 73 2) Ted T, AP T

() =€ T3, IR Fe 1y 4) T feg @, T T

75. Where a_ctual loss in a process is less than the anticipated loss, the difference between
the two is considered tq be : |

(1) Abnormal gain (2) Normal gain

(}) Abnormal loss " (4) Normal loss
aﬁ@mﬁmaﬁf,wﬁmaﬁ@m%ﬁ%éﬁmﬁn
HIAT ST BT
(1) STEm= ey _ Q) 9E™ A
(3) T 'y (4) g '

70, ..l is an important point to be determined in industries where batch costing is
applied '
(1) Economic batch quantity (2) Estimated profit
(3) Escalation clause (4) Depreciated value of plant
SERT H v FERT Bpar o9 arer ws Jewyet Ry § st 3w
HIRET AR &l S 2 | |
(1) TR =1 =60 (2) sTgHI~a @y
3) gfx @s (4) T & ST T

77. A budget which is prepared in a manner so as to give the budgeted cost for any level of
activity is known as .............. budget.
(1) Master (2) Zero-base
(3) Functional ' (4) Flexible

: - PG-EE-June, 2023/(Commerce)(SET-X)/(B) ' P.T. O.
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i
’ Y oV o Py A e,
25 MaAid = T
s »

- -~ A [l ‘ AT
UF =9 A 5w aw A Mg fam oo B 5 R W *fa,
TG A & o o, Az % =9 ¥ S AR £

.........

(1) s3=7 (2) g7a~-FaZ
(3) TS (4) =570

78. The P/V ratio of 2 company is 50% and margin of safety is 40%. If present sales s
Rs. 30,00.000. then Break Even Point in Rs. will be -

(1) Rs. 9,00.000 (2) Rs. 5,00,000
(3) Rs. 18,00.000 (4) None of the above

3% FEE1 =PIV AU 50% # gear = oanea 40% 2 3fE 3ea 9%
30,00.000 %0 &, & S0 ¥ 3% 257 dee ey -

(1) 9.00,000 50 (2) 5.00,000 5o
(3) 18,00,000 5o @) T3 & 5 B =

78. Every vear the residential status of an assessee :

(1) May chance (2) Will certainly change
(3) Will not chance | (4) None of these

(1) uizaida 2r g=ar & (2) FHiz=a givataa 2
(3) gikaiaa F&r 2R (4) =55 F =€ 55

80. For being the income taxable under the head 'salaries’, it is essential 10 be -
(1) No relation between employer and employee
(2) Relation between employer and employee
(3) Receipt of only cash salary by employee
(4) Receipt of only prerequisites by employece

(1) Mg IR #9ard & 4" 38 d49g 98
(2) Farm A7 wHaErd $ 99 d99 &)

() FHEMT 21T Fao 9%z Ja9 F 9T &
(4) FHI Z1 Faa gamensit # oifg &
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82.

83.
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Accounti sl 14 :

counting concepts is considered as ... upon which the scicnce of accounting is
based.
1
(1) Customs (2) ‘I'raditions
(3) Objectives (4) Basic Conditions
AE(EHA  STIIROTS B oo qer omer 2, frd o Q@red w 1EE
SRT B
(1) Jfq-Rarst (2) qRUT
(3) I (4) grErEr ad
The" weveiss tenes is a book of original cntry'whereas the. costsinaioss is the book of sccond
entry. '
(1) Ledger, Journal (2) Journal, Ledger
(3) Cash Book, Journal - (4) Journal, Cash Book
......... oo SR @ g & ks ........ [&dE Sl B gES §
(1) AR, S ' (2) ST, ASIX
(3) B b, I : (4) ST, DT b

Error of omission arises when :

(1) Any transaction is left to be recorded

(2) Any transaction is recorded in a fundamentally incorrect manner

(3) Any transaction is incorrectly recorded, either wholly or partially

(4) None of the above

(1) g - st A F gL @
(2)@%%-%%@%%@%%&?%%%
(3)@%?{?—%@%@(@%6{@%mﬁrgﬁimaﬁﬁmwé

(4)3qﬂ?ﬁﬁ@(®éﬂﬁ

f;‘;:f;"’.',‘PG‘-'EE.June, 2023/(Commerce)(SET -X)/(B) P.T.O.
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84,

85.

86.

87.

B

onc period as its bencfit is no;
1

hich is not written off 11

............. is an expenditure w
urred.

completely exhausted in the year in which 1t 18 €

(2) Revenue expenditure

(1) Capital expenditure
(3) Deferred revenue expenditure (4) Capital receipts g STaT iy
o e = B Rrd o oty 7 9 @ A TELIE TR

s @ o9 af F g e @ e A€ aar & P T -

(1) T =9 (2) ToTEd FE

(3) ST ST @ (4) goft ST

.............

Gross Profit + Opening Stock + Purchases + Direct Expenses — Salcs =
' (2) Net Profit

(1) Cost of goods sold
(4) Closing Stock

(3) Cash in Hand
GHd A1 + IRI9h Evrawaﬁawtwé G202 I = o) B

(1) =9 T AT & AFTT 2) g= I
(3) T B | (4) FATT Wleh

Loss on the sale of machinery should be written off against :
(2) Sales A/c

(1) Share Premium A/c
(4) Depreciation Fund A/c

(3) Purchases A/c
AT & [l 9X U THE @l 92 @ 7 ST ST =91y
(1) X ANFEE @ar (2) fe=nr @rar

(3) I @i (4) geaerE MY @

The unsold consignment stock is valued at .............. .

(1) Original cost of goods (2) Proforma Invoice

(3) Market Price (4) At cost or market price whichever is less

form fob gq w1 & Wheh BT GRBA ... X BT '
(1) AT & g AFTT (2) MEHMT gTeEd
- (3) SR T ' (4) ST o7 ISR 9o, S o) o &

PG-EE-June, 2023/(Commerce)(SET-X)/(B)
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89.

90.

25

Hire purchase is an

agreement of whercas instalment purchase system is an

...............

agreement of sale,

(1) Consideration (2) Contract

(3) Hiring (4) Return

AR B L T PR ¥ Sieifen et A SO fEhl T BT B
L @) ega
(3) TFIT 9= J=y C4) aqq;ﬂ

According to the decision in Garner Vs. Murray in the absence of any agrcement to

contrary the deficiency of the insolvent partner must be borne by other solvent partners
in proportion to

(1) Profit and Loss sharing ratio

(2) Capital employed 7

(3) Realisation of assets

(4) Capitals which stood beiore dissolution of the firm

Wwﬁﬁm-%wwm?ﬁwﬁwm%%ﬁ
Rl «fl ¥Helid & o1g § oy Rafemm Wit &R ...l ® AU |
Je- fopar st =nfew |

(I)W‘Waﬁwaﬁqﬁ,
(2) FrafsrT gt
(3) Huft =t i
(4) ST ST wH & faued @ ued off

Il;recoverable short workings are transferred to .............. Account.

(1) Royalty payable (2) Landlord's

(3) Profit and Loss (4) Trading

STafadi o AR B w # wiaRe R o R
(1) acdr & (2) ¥eBrT Fifrer &

(3) @ AR BIA (4) =R

- PG-EE-June, 2023/(Commerce)(SET-X)/(B) PG
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91. Foday Business is characterized by

--------------

(1) Diversification (2) Loss
(3) Fight (4) Conflict
STST =99 &t Rder L El
(1) Rferfepzor (2) =ify
Q) szE (4) e
92. Which of the following is nor 'a part of the business environment of business ?
(1) Customers (2) Suppliers
(3) Competitors - (4) None of the above

ﬁﬁ%@aﬁéﬁw-ww%aﬁaﬁqﬁaaﬂ%ﬁﬂ T T ?
(1) =rEss ‘ | (2) emgffmat

(3) wferarh ‘ (4) ST 7 &F B &
93. The Government policy for sick industrial units aims at -

(1) Revival \ (2) Reconstruction

(3) Rehabilitation - (4) All of these

BT SN 3HEA B R GBI B AR T oqeg

(1) gTosErR (2) gAfHfoT

(3) e (4) 7 wft

94. Name the policy that accords with expenditure and taxation policies decisions of the

government : '
(1) Monetary policy (2) Fiscal policy

(3) Labour market policics (4) Trade policy
w%mwwﬁw%m@wm%ﬁ%ﬁvﬁ%aﬁm
1

(1) Aifzep Afer (2) TR A

(3) =W IR AfeEr (4) =R A

PG-EE-June, 2023/(Commerce)(SET-X)/(B)
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95. ............. iS dCPiVC 1 (¢ 1 1 C '“
C ll()ln b()lh hl\(\llCl{ll HCC()UI]”HB ﬂnd c0st account £
(1) ACCOlmlinQ .1‘1 ||
1CO ) ibili i
& ory ( .) RCS])()I)SI lllly /\CC()UHUI][,’

(o ] s -
3) Social Acc i
(3) § counting (4) Management Accounting

""""""" R i R e g AW A S A 2

1 ,
(ﬂ) T Ry , (2) SxRERE e
(3) I Srar ORECERSC
96. Capital gearing ratiois ...
(1) Market Test Ratio | (2) Long-term Solvency Ratio
(3) Liquid Ratio . (4) Turnover Ratio
e Frafer e ... BT B |
(1) ISR q8eror STeare (2) drefepiferer SMe—&He ST
(3) TXT Srgum (4) eteliax STgaT
97. Cash lost in operations ................ equal to the net loss as reportedlin the Profit and Loss
Alc. |
| (1) should be | (2) must be
(3) can be ~ (4) isnot
A R B @ # RO @ E gE BN @ SRER gueE HOd@dl #
BT 2 2 g £ P o |
(1) &t =nfe (2) sragg Bl =Ry
3) & @ B - @ TER

' 98. Shareholders' wealth in a firm is represented by
(1) No. of employees in the firm

(2) Book value of the firm's assets less the book value of its liabilities

(3) Retained earnings
" (4) Market price per share of a firm's common stock

PG—EE-J une, 2023/(Commcrcc)(SET'X)/ (B) | s
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TH G A ofiR @ ww gy wiaffee B i 8
() w1 7 salRal &) den & ara
(2) B9 A qufy @1 18 e Ius Qi@ & @ el e % &l
3) ulaiRa 98 & =3
) @ B B A Wis B ufy dAx G ged B &

: ) : » bascd on :
89. In order to calculate weighted average cost of capital, weights may be bas

(1) Market values (2) Book values

(3) Both (1) and (2) ) (4) None of thesc

TN 1 A e aFE A T B $ Rrg, WK STEIRG @ A ¥
(1) IR T X (2) &I Jod WX

(3) (1) X (2) SF1 9X (4) 379 Q Hg F&l

100. Ifthe cut-off rate of a project is greater than Internal Rate of Return (IRR), we may :
(1) Wait for the IRR to increase and match the cut-off rate
(2) Accept the proposal
(3) Reject the proposal
(4) Be neutral about it
AT el IRASTT B he-oiis &% wRIbe @ siiaR® a3 (IRR) @ Iftes ), ar
89 :
(1) IRR & Fgd AR FHT-3HTF W P SR BN & SR FF
(2) &g EepR HE
(3) &g & STEBIT B
(4) T9% A ¥ dewT @
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1. In Rowan plan:

(1) It provides a guarantee of minimum wage
(2) Management share a percentage of bonus
(3) Inferior and fresh workers are not penalized

(4) All of the above
g e F
(1) g8 A T B TRE FaGM hem 2
(2) wEEF 99 FHT ARISTT G=T HIET

- (3) &9 &R U HHEREt @Y dRd T frar ot &

(4) STAH G
2. Time wages are paid on basis of :
(1) an hour (2) aday
(3) aweek (4) any of the above
wEfy wSIgd B PN e se ¥ A o ® 7
(1) @& de1 (2) @ fa
(3) T d<Ie ‘ (4) STAH F & P of
3. Identify the major actor of industrial relations from the following :
(1) Employers (2) Unions
(3) Government (4) All of the above
ﬁ%ﬁﬁﬁﬁ%ﬁﬁ@ﬁﬁzﬁ%wﬁaﬁwmz
(1) P - (2) ghEm
(3) "R | (4) Sk |

4. The conflicts and disputes between employers and employee of any industrial matters
are known as :

(1) Industrial disputes (2) Human relation
(3) Conflicts relation (4) All of the above

Wﬁﬁﬁﬁmmﬁﬁﬁﬁwﬁﬁﬂmﬁﬁ%eﬁa@éeﬁtﬁaﬁaﬁ
= =9 & S o @
(1) sTrenfires Ryarg (2) AFEE Hee
() ¥uy Hey (4) ST |l
PG-EE-June, 2023/(Commerce)(SET-X)/(C) P.T. O.
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5. When the value in a serics are not equal importance, we calculate the :
(1) Arithmetic Mcan (2) Geometric Mcan
(3) Weighted Mcan (4) Mode

g e sfaen # w5 Aue e 98 1A B @y mw oo &I B
(1) stmwaforfr wreg (2) wafedra syen

(3) wnfver s (4) =77
6. What is the value of the first quartile for observation 15, 18, 10, 20, 23, 28. 12. 167
(1) 17 (2) 16
(3) 12.75 (4) 12
15, 18,10, 20, 23, 28. 12, 16 Smroqt 3 famr gem aqdE @ e R 7
(1) 17 (2) 16
(3) 12.75 (4) 12
7. Ifthe beta onc is 9, beta two is 11, then cocfficient of skewness 15
(1) 0.589 (2} 0 689
(3) 0.489 (4) 0 RRO
oy drer o 9 B, #2111 B, @ Bwen o opiE R
(1) 0.589 (2} 0689
(3) 0.489 (4) 0 889

8. The correlation cocefficient 1s used to determine

-«

(1) A specific valuc of the Y-variable given a specific value of the X-vanable
(2) A specific value of the X-variable given a specific value of the Y-variable
(3) The strength of the relationship between the X and Y variables

(4) None of these

geddy TonE & Iwar e e fGaife
(1) Y-a7 &1 oz fafsme w5, f2an @ B Xea7 @ us fafere o

-
~
-~
41
.
N
.
-
~
~
.

a

(2) X-g7 #1 uF fafere wr, fa o B oY-a @ oow fafere g
(3) X sh7 Y &7 & drg #@du @ g
(4) T A #g FF

PG-EE-June, 2023/(Commerce)(SET-X)/(C)
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A 9. In regression, the equation that describes how the response variable (Y) is related 1o the
explanatory variable (X) is :
(1) The correlation model
(2) The regression model
(3) Used to compute the correlation coefficient
(4) None of these
g T Hﬁwﬁaﬁm%%qﬁmmw)mm(mé

Ha defg & 7
(1) T8gsy Alsd
A RISHEG R IES]
(3)Wﬂmﬁmm%m3@WMW%
(4) 9 8§ ®E T
10. The best average for constructing an index number is :
(1) Harmonic mean (2) Arithmetic mean
(3) Geometric mean (4) Nonc of these
(1) UFH AT ' (2) SFRPRiT ATem
(3) STTtHeT \Te (4) 37H 4 |3 T
11. Every promise and every set of promises, forming the consideration for cach other. is
called as :
(1) An agreement (2) A void contract
(3) A contract ‘(4) A voidable contract
s e AR g9Hl & T aHeed, S uh T B foe ufed a9d E,
FHedld 8
(1) T HHrar ‘ (2) Th LA ST
(3) Ush Igdy | (4) TH IR0 3

"~ 12. A 'contingent contract' is a contract to do or not to do something, if some cvent
collateral to such contract :

(1) Does or does not happen (2) Happened or will not happen
(3) May or may not happen (4) None of the above

PG-EE-June, 2023/(Commerce)(SET-X)/(C) - | P.T. O.
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4 @:,Wmﬁéﬂ’@aﬂ%mﬂﬁqu%'mﬁgm@
aﬂda%mﬁqﬁhﬁ%: '

(1) @ & =1 A ¥ () gen = T &

(3) @ T & a1 T & w3 (4) SUAH H F g 7L

13. It is necessary in bailment to transfer of :

(1) Property (2) Goods

(3) Ownership (4) Posscssion
AT H e FH TEAHL BT TS © |
(1) waf (2) =t

(3) @ (4) sl

14. Which Section of Consumer Protection Act, 1986 states about the objects of the
Consumer Protection Councils ?

(1) Sec. 5 ‘ (2) Scc. 6

(3) Sec..9 | | (4) Sec. 11

STHITHT FET S, 1986 N H-E a1 SusET e 9RuE 3 e
® IR F FaRh ® ?

(1) a5 (2) TRT6

(3) &9 (4) T 11

15. Essential elements of a partnership include :
(I) Agreement (II) Mutual Agency
(III) Sharing of profit (IV) Business
(V) Association of two or more persons
(1) L Il and V only | (2) LIL V only

(3) LI IV and V only (4) All of the above

PG-EE-June, 2023/(C0mme'rce)(SET-X)/(C)
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m%mmwama,:
(1) @
(1) M9 7 aerarey
(V) & g1 &t A A% orferdt g oy
() a1 L1 sy v
3) FF9 LILIV ot v

16. ...

(1) Abill of exchange or cheque
(2) A Promissory note or 4 cheque
(3) A promissory note or

a bill of exchange
(4) Nonc of these

(1) fafymsm gz o aF

(2) TF a99 9z @ va 2
(3) & Fus um T fafyun o
(4) &9 A ¢ 54

17. The position of the finder of lost goods is that

(D) g 5a adhg
(V) amre

(2) Fa= LILV
(4) T17vs %

cannot be dishonoured by non-acceptance.

) 3?7*57'.}/1 FIX B s o (¥ s

Of
(1) Time owner (2) Creditor
(3) Bailor (4) Bailee
g 52 ar Foura w3y A fafy Sk b
(l) m 37 (2) ;‘;.',:':
(3) ‘m W‘V (:) AT Y&I7
18.  An application under R11 can be sent by
(1) E-mail (2) Post
(3) Delivered personally (4) Through any of the above means

ATAAE F awa oF swAT AT T

(1) §-a=

(3) axfepre =y & faafra
PG-EE-June, 2023/(Commerce)(SET-X)/(C)

(2)

WA T " R

ff?;,v

(4) 3udren faeh o mnam @
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: ?
i -ed in Companies Act, 2013 ¢
i ‘ f company was introduced in
19. Which new type of company (2) Two Person Company

(1) One Person Company ) ) hi
(3) Limited Liability Partnership ‘ (4) Public Private Partnership

mmﬁm,zowfrﬁmmWaﬁrﬁmﬁﬁsTaﬁ’Ti?
(1) <& =afxp (2) ar Ak Ha
(3) AT Iar wEEr (4) qrEsites ol 9rTierd

What is the minimum paid-up capital required to incorporate a public company 9
(2) Rs. 50 lakhs
(4) None of these

20.
(1) Rs. 10 lakhs

(3) Rs. 1-crore
@Hﬁaﬁ?sa%wﬁaﬁsmﬁaaﬂ%%%maﬂaswwmﬁw%?

(1) 10 ¥rg sq97 (2) 50 S B9y
3) 1 HAs sY97 4) &9 q Hg 7
21. Accounting COl’lICCptS is considered as .......... upon which the science of accounting is
based.
(1) Customs (2) Traditions A
(3) Objectives (4) Basic Conditions
qEHT YRR ... ww%,mwmaqa—ﬂm
ST 81
(1) Afer-fRars (2) RuRTE
3) SEsm (4) gFEE o
22. The ... is a book of original entry whereas the . is the book of sccond
entry. _
(1) Ledger, Journal (2) Journal, Ledger
(3) Cash Book, Journal (4) Journal, Cash Book
......... T A B g ¥ o L SR o & B
(1) IR, St (2) SV, ST
(3) BT g, S (4) S, Bar g

PG-EE-June, 2023/(Commerce)(SET-X)/(C)
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93, Error of omission ariscs when :
(1) Any transaction is left to be recorded
(2) Any transaction is recorded in a fundamentally incorrect manner

3) Any transaction is incorrcétly recorded, either wholly or partially
(4) None of the above

g% B P T Ia~ A & o

(1) B AT oof FY Qg2 o B

(2) B A3 NeF w7 A o as d aof fRaAr S @

(3) FE AT T TOB F aot B o B, A @ gof @ Sl w9 W
4) ST F q B T ‘

24, ... is an expenditure which is not written off in one period as its benefit is not
completely exhausted in the year in which it is incurred.

(1) Capital expenditure -(2) Revenue expenditurc
(3) Deferred revenue expenditure (4) Capital receipts

............. UF e =9 B R s emfy # 92 @ # Sl SIS F#iih
TEE @ 39 ad § g ave ¥ @A 98 e & Rred g8 fear g

(1) gSirTd =1 (2) D =TI
(3) ST IeT A (4) gstr st

25. Gross Profit + Opening Stock + Purchases + Direct Expenses — Sales =

(1) Cost of goods sold (2) Net Profit
(3) Cash in Hand (4) Closing Stock
HebeT T + SR € + T + SeTer Z - R =
(1) S T AT H AR (2) g A
(3) B& s (4) ST Wieh
26. Loss on the sale of machinery should be written off against :
(1) Share Premium A/c : (2) Sales A/c
(3) Purchases A/c (4) Depreciation Fund A/c

PG-EE-June, 2023/(Commerce)(SET-X)/(C) | P.T.O.
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27.

28.

29,

(4)1@%%%

The unsold consignrrient stock is valued at
(1) Original cost of goods
3) Market Price . .
1(%1:n o 8T AT B WP B geaier

..............

In 0
a )
hiche, .

........... Scy aﬁT %?'I Cvep 1§ IQSS
(1) 5T B JF AR | (2) S ety
(3) IR T (@WﬁWWW@[ﬁ%a
Hire purchase is an agreement of .. Whereas Instalment purchasg SYsten
agreement of sale.
(1) Consideration (2) Contract
(3) Hiring (4) Return
B wmnz%mﬁsi%wmmﬁmmmg,
(1) wrfcropey (2) oy
(3) BR1T av ap (4) gy
According to the decision in Garner Vs, Murray in the absence of any agreemen o
contrary the deficiency of the insolvent partner must be borne by other solvent partners
in Proportionto ...~

(1) Profit ang Loss sharing ratiq
(2) Capita] employed
(3) Realisation of assets

i r
Scanne d with CamScannel



30. Irrecoverable short workings are transferred to
(1) Royalty payable
(3) Profit and Loss

FARETHE e afaieg o)

(2) Landlord's
(4) Trading

......... At # =i B s 2
(1) T 3 (2) FHF AH B
(3) &9 3R =y (4) =TT
31. "A bird in hand is better than two in the bush” principle is related to which theory of
dividend ?
(1) Walter

(2) MM
(4) Residual

‘g ¥ uw fafew st § @ A s B owe arwivt 3w et A AdEtas
27

(3) Gordon

(1) areex

(3) 7IEA

(2) UHo UHo

(4) Fafor=

32. What are current assets ?
(1) The assets that can be sold casily by a company
(2) The assets that are converted into cash within a period of onc ycar

(3) Assets that arc held by the companics to pay off the current liabilities

(4) All of the above
= daf @ el § 7

(1) é Hqﬁ:ﬁﬁ Gﬁ iiﬁﬂhl EWT'ﬁ FARY CﬂiW'ﬁ 7\? ;Jt-'i;l AT Tl .
(2) ¥ Hufsat st uw ad &1 e@ia & |y Fwd # qfvafda @ s @

(3) T wufsi S @Al 2 adwE afEEl @ o &0 F fen v
Ei1i
(4) Iuas |
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33.

34.

N

The process of financial audit begins with :
| (2) Reporting

(1) Planning
(4) Internal control

(3) Testing .
Rty sidereT 1 SRR o D R |
(1) AT & \E (2) Rt & @

(3) e & (4) sl Fre=eT & AT

The objective of the ordinary audit of financial statements is the cxpression ol an
opinion on :

(1) The fairness of the financial statements
(2) The accuracy of the financial statements
(3) The accuracy of the annual report

(4) The balance sheet and income statement

'ﬁﬁﬁuﬁaﬁ%waﬁmwaﬁwﬁwwwqﬁaﬁaﬁqw%%:

35.

PG-EE

(1) foxi faawort @ Frsgerar
(2) foir foa=ott @ afgpsan
(3) =i RO & gfgprear
(4) I Me o) o1y Rgwor

The audit conducted to check and examine the efficiency and effectiveness of

management is called ................ audit,

(I) Management (2) Cost

(3) Energy (4) Safety
Wmaﬁmeﬁrmsﬁawaﬁma?ﬁwﬁ

STRETT Y ... ai%awmm%u TR S R e
(1) srefer 2) WrIg

-June, 2023/(Commerce)(SET-X)/(C)
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36. Which report will be submitted by an auditor, if he is dissatisfied rcgarding the facts
and informations ?

(1) Clean report ' (2) Management report
(3) Qualified report (4) Cost report
aedt ol Gorrel @ ordge 8 X dEgderss A-d RO swqa &y 7
(1) @ R (2) e e
3) ara RarE (4) @rma R
37. Process of checking the evidence of the entrics is called :
(1) Verification (2) Obscrvation
(3) Vouching (4) Inspcction
nfaftedl & arg & sita @ ufEa e 2o
(1) | (2) TgeHA
(3) araf=m (4) Fdreror
38. Consider the following activities :
(I) Valuation (IT) Verification (I1T) Vouching
The correct scquence of the activitics undertaken by an auditor is :
(1) 1L I, 11 (2) HLLIL T
(3) ILIIL, 1 (4) 111, 111

Fr=faiad harehardl 9x o= &ifs

(1) gegise= (11) geamad (1) arsfEe

(1) 1L, 1, II (2) LI 1
(3) IL1IL 1 (4) LI, 110

39. The main objcct of investigation is :
(I) To discover errors and frauds (2) To prevent errors and {rauds

(3) To verify statement (4) All of the above

PG-EE-June, 2023/(Commerce)(SET-X)/(C) P.T.O.
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41.

42,

PG-EE-J une,

AT O IRey R

() FRF i dawd @ Qe
(2) Ffea o drEed B Qo
(3) 99 & Tl s

(4) IUATw G

. .. . > whole ol audit woyr
Before the work of audit is commenced. the auditor plans out the w }’1( ‘ k
is known as -

(1) Audit plan
(3) Audit risk

(2) Audit note

(4) Audit program

................. IS a unit of product. scrvice or time in relation (o which cost may be
ascertained. :
(1) Budgeted cost (2) Unit fixed cost

(3) Unit cost (4) Cost unit

................ m,ﬁmmwaﬁ@%ﬁf%ﬁw&aﬁawﬁmaww
AT ST Fepar <
(1) T8 sipmg

(2) 331 Mfvga amg
(3) gFE TG

(4) Tmrg EEOES
Two important opposing factors in fixing the cconomic order quantity are . cost
and the ... Cost.
(1) Ordering, Storage (2) Storage, Scrap
(3) Ordering, Rc-ordcring 4) Storage, Rc-ordcring
aﬁﬁmmwmmﬁa‘f%ﬁgﬁﬁﬁ%ﬁm ..... s mnse o SRS £
........... AR 8 |
(1) aitEy, =i (2) VR, &y
() sy, a7y (4) FfﬁFf, {-aidy

2023/(Com merce)(SET-X)/(C)
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43. Idle plant capacity means :
(1) Practical capacity minus normal capacity
(2) Maximum capacity minus actual capacity
(3) Practical capacity minus actual capacity
(4) Maximum capacity minus practical capacity
ffera @I &amdr o1 a1ef B
(1) SAEEMRE &9 71549 = e/HdT
(2) AR e HIzAY arafaE e
(3) ATEIRE &THaT A3 dredfass arqdr

(4) SR eTTr AZAg GBINE e

44. Under-absorption of production overheads is ............. and over-absorption of such
expenses arc .............. while reconciling costing profits with financial profits.
(1) Added, Deducted (2) Decducted, Added
(3) Added, Multiplied (4) Multiplied. Deducted
foia @™ & Qe @ra @ Bl e wm g #EE 3dEe 39y &
HH-FAIMTT .......... AR T T FH AfemH-s@amer ..., g1 .
(1) s 13, ged T3 (2) TEF T, T Ty
(3) Ste @, P fHy @ (4) 7o frg @, 9=

45. Where actual loss in a process is less than the anticipated loss. the difference between
the two is considered to be :

(1) Abnormal gain (2) Normal gain
(3) Abnormal loss (4) Normal loss
STEl U thar # grafad e+, Tsd B ¥ &5 B, 2 & F=" @ aiav
HET ST § |
(1) TEM™ET T (2) 9ET @19
(3) ITEHET B (4) FETE 19
46. ... is an important point to be determined in industries where batch costing is
applied
(1) Economic batch quantity (2) Estimated profit
(3) Escalation clause (4) Depreciated valuc of plant

PG-EE-June, 2023/(Commerce)(SET-X)/(C) P.T.O.
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14 ﬁﬁ%mﬁﬁmﬁ@wﬁg%aﬁaﬁ

- SRR PR
as'?@l';fﬁﬂ oy @Y STt gl (2) -
(1) e &= A | a‘wﬁaa 7 i,
(3) IF& ©S (4) i
A budget which is prepared in a manner so as to give the budgeted cost for any level of
i activity is kKnown as .............. budget.
(1) Master (2) Zerobase

(3) Functional (4) Flexible _
wh 9 ST 9 < @ §UR fear ower & f e oft WX @ Iiary & fem

g AT & ST 9B, ...neen. goTe @ @9 F ST STl o |
(1) ArEX (2) YI-ITER
(3) HATHD (4) T

48. The P/V ratio of a company is 50% and margin of safety is 40%. If present sales is
Rs. 30,00,000, then Break Even Point in Rs. will be :
(1) Rs. 9,00,000 (2) Rs. 5,00,000
(3) Rs. 18,00,000 (4) None of the above
T HAA B P/V U 50% SN GRET &1 7T 40% B A adw= e
30,00,000 o ®, & o F % a9 dig< &N

(1) 9,00,000 o (2) 5,00,000 ®o

(3) 18,00,000 Bo (4) SWH & q HE T8
49. Every year the residential status of an assessec :

(1) May chance (2) Will certainly change

(3) Will not chance (4) None of these

B O U iRl @ ey Refy

(1) qfakia & godt 8 (2) Wit ofafda aFf

(3) uRafda =2 &nfi ' (4) 379 q 1

50. For being the income taxable under the head 'salaries', it is essential to be :
(1) No relation between employer and employec
(2) Relation between employer and cmployee
(3) Receipt of only cash salary by employee
(4) Receipt of only prerequisites by employee

PG-EE-June, 2023/(Commerce)(SET-X)/(C)
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ofifes AT %WW*WW@%%%Q,%WSW%%:

(1) PR SR A & d @ weg 08 @
(2) FrERH SR ARG B S gey @)
(4) A TR B q@iETeT B iy @

51. How many fundamental clauses are contained in the Memorandum of Association of a

company ?

s ) 6

(3) 7 (4) 8

TH HAAT B AARSH i TERuye § fhay A @ fifeq § 2
(1) 5 () 6

(3) 7 | ‘ (4) 8

52. If the ownership of share of a company goes to another by operation of law, it is called

as :
(1) Transmission (2) Transfer
(3) Both (1) and (2) (4) None of these

i Rl Sl & PR H WIHE wF A AR A RE ot & urg S
2, O 39 Fer o ® o0

(1) |=TeT | (2) TR
(3) (1) &% (2) & (4) =% | P T
53. Name of the member of a company is struck off from the register in case of :
(1) Issue of shares (2) Bonus issue of shares
(3) Issue of sharc warrants (4) None of these
T FU B TR H AT AR F BT S g, e B hd 7
(1) sl =1 Fetas (2) et @1 Ao e
(3) X arte H AT (4) 379 | HIg T

‘ P.T. O.
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54. Liability of director of a company is towards :

ot
(1) Government (2) Public

(3) Company Law Board (4) Sharcholders of the company
o ETN B PR & A Rt @ Ry o ®
(1) T | () ST
(3) HU | S (4) ST & RERE
55. Which of the following is the meeting of sharcholders ?
(1) Annual General Meeting  (2) Extra Ordinary General Meeting
(3) Class Meeting (4) All of the above
Freffee & & B et 4 dow 7
(1) o & Jee (2) STEYRYT 3TH o
(3) e Seep (4) TR A

96. As per Companies Act, 2013, the

procedure for winding up of a company can bc
initiated either :

(1) By the tribunal (2) Voluntary
(3) Any of the above (4) None of the above

mamﬁw,zon%aﬂﬂmmmiwmmm%aﬁfaﬁ

(1) =ar=feeRer gy (2) wies
(3) SWRF H | P2 (4) SRF F F HE 7

57. Human Resource Management is amalgam of ............ .

(1) Job analysis, recruitment and selection

(2) Social behaviour and business ethics

(3) Organisational behaviour, personal management and industrial relation

(4) Employer and employee

PG-EE-June, 2023/(Commerce)(SET-X)/(C)

Scanned with CamScanner



(2) GHEINTS FEER R sqerares A
(3) HTSTIHF G, =g seg oX sieife dsy
4) AR oIk FETy

58. HRM can be understood as process of :

(1) Processing (2) Developing

(3) Maintaining people (4) All of the above
TESTXEH Y 5 fhar & =q F anen o deer T 2
(1) TEERIoT (2) faeprasta

(3) ST Bl ST e (4) ITAH [

59.  Which of the following is a benefit of employee training ?
(1) Improves morale
(2) Helps people identify with organizational goals
(3) Provides a good climate for learning, growth and coordination
(4) None of these

e & @ #-ar sw=ml ufdeor & g 7

(1) 7 1a Sordr 8
(2)€ﬁvﬁﬁﬁ7mmaaﬁfﬁwzﬁﬁﬁwaﬂw%
(3)%%,W@TW%WWWWWW%
4) 9 9 FE T

60. Recruitment logically aims at :
(1) Attracting a large number of qualified applicants
(2) Offering enough information to unqualified persons
(3) Encouraging potentia] applicants
(4) All of the above
PG-EE-June, 2023/(Commerce)(SET-X)/(C) ; | P.T.O.
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=7 9 ol @l e
gl @ § A S B TR BT
(1) =T e S 3
(2) eTrd el Pl
(3) e TAEE B e H
() ST® T
61. The base of tax under the head 'Tncome from House property" is :
(1) Rent Received (2) Anm?a.l value
(3) Standard Rent (4) Municipal valuc
are @i § oA fh & il Y B SN B
(1) o<t BeRr (2) = g
(3) A R (4) SRUTfeTeRT o
62. Deduction regarding telc-communication services is allowed under the following
Section :
(1) Section 35D (2) Section 35 AA
(3) Section 35 ABB (4) None of these
AR 1St & Heg F FHAd Ffafag o) & ded oFgAd @
(1) a1 35 (2) 91T 35WQ
(3) uRT 35 T . (4) 3771 & I3 e
63. Bond washing transaction is a method :
(1) To save income tax (2) To pay less income tax
(3) To show less income (4) Not to prepare return of income
gis aifRFT a9-39 o fafy ® -
(1) TR FAW Al (2) HH AFHT 29 H
(3) FA o fe@™ @ (4) 7 & fqawel Far 75 & @)
64. Loss of one head of income can be set-off against the following :
(1) Against head 'salaries' (2) Against head 'Income from other sources'
(3) Income from any other head (4) None of these
‘ml%@sm%wﬁﬁwﬁ%a%mﬁaaﬁmmmm%:
(1) qa < & ame (2) ‘S99 Al | o e & [
(3) Tl o= sl | ey 4) 379 ¥ P TS5

PG-EE-June, 2023/(Commerce)(SET-X)/(C)
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Requirement of furnishin P s @ : : . L
65. [ncome T At s & PAN (o tax deductor is mentioned in followmg Scetion of

(1) Section 206

(2) Section 206 (A)
(3) Section 206 (AA)

(4) None of these

AR AT 9 R :
m&mmmmw%:Wﬁwmﬁﬁqwmﬁ
(1) o=T 206

(2) &7 206 ()

(3) ST 206 () @ T & B

66. A Hindu undivided family is for assessment purpose :

(1) An independent unit (2) A branch of a trade

(3) A form of partnership (4) None of these

T &g i aRar gedie stva @ R B

(1) T @& g (2) MR & TFH AT
(3) |EETY @ wE =g 4) &7 | B T

67. thich of the following is not a part of industrial policy ?
(1) Tariff reduction
(2) Subsidies to industry
(3) Change in the corpofate tax regime -
(4) All of the above
fFrfefad & @ si-ar oenfe ity @ s 787 8 2
(1) 2R% #
(2) TEvT S wRad)
(3) FMIRT HT FIer F FadE
(4) ST=H Gl

68. Monetary policy affect the .............. : |
(1) Reserve and unemployment (2) Money, supply and interest rate

(3) Taxes and exchange rate (4) Stock, price and minimum wage

P.T. Q.
PG-EE-June, 2023/(Commerce)(SET-X)/(C)
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20 FHE B
@Y T
A A e
o 3SET (2) T, ST AT = =

(1) Rord | (4) Efp, g9 AR FATH Horgd
(3) hH G?R' 1a|i|:|q X

69. Union of the following items is nof included in a country's balance of payments ?
(1) Shipping scrvices (2) Interest received from abroad -
(3) Import and export duties (4) Tourists expenditure
frel 39T & AW e | frAfaRad 7t @ 9@ e F87 R 7
(1) RIfFT dame (2) foRer & ui<q =T
(3) s R M g (4) THeH! @1 T

70. Business environment is encompassed as the climate .or set of conditions, economics,
social or institutional in which business ............ are conducted.
(1) Operations (2) Customs
(3) Rituals (4) Meetings
PG AR @y O oSt & Qe ST, TG O eI § =y i
A B e ey L ST fpT iy &
(1) |am (2) M1
(3) wHHms (4) I

71. Today Business is characterized by ...
(1) Diversification (2) Loss
(3) Fight (4) Conflict
ST qqa™ @ Q{Qwer L. 8
(1) faferefierzo 2) =iy
(3) werg (4) g

72, ich ing i -
| Which of the following is nor 3 part of the business environment of business 9
(1) Customers (2) Supplicrs

3 :
(3) Competitors (4) None of the aboye
PG-EE

-June, 2023/(Commerce)(SET-X)/(C)
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(N DIREH

(3 gfearh

d Be-
PA- w1807 D FAA D e @ D ?
(2) amyfefenat
(4) 39k F A B A

73. The Government policy for sick industri
(1) Revival

al units aims at ;
(2) Reconstruction

) (4) All of these
w1 SNENE SIS R awvme @ R @ e D

(1) IF5=1T (2) gAfmf
(3) FTar 4) 3 @f

(3) Rchabilitation

74. Namc the policy that accords with expenditure and taxation policies decisions of the

government :
(1) Monctary policy (2) Fiscal policy
(3) Labour market policics (4) Trade policy
39 Afg # A1 FaRe St G & AF ud sagE Aifat & fFelal & oarpsy
Bl
(1) #ifeas ifq (2) TSR A
(3) =@ arsie i (4) @I ifer

BB e is derived from both financial accounting and cost accounting.
(1) Accounting Theory (2) Responsibility Accounting
(3) Social Accounting (4) Management Accounting
............. fadrr aRgisd ST @ A A1) @ U<l exi & |
(1) q@r fawid (2) IETE @
(3) @M a@n (4) wdgA T

76. Capital gearing ratio is .....coooeeveeees :
(1) Market Test Ratio | (2) Long-term Solveney Ratio
(3) Liquid Ratio (4) Turnover Ratio

; THO.
PG-EE-June, 2023/(Commerce)(SET-X)/(C) P
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77.

78.

79.

| (1) Market values

e PR ST oo gl %22) N

(1) ST LT STgATT e

(3) o ST (4) TS S

Cash lost in operations ..........ce..s equal to the net loss as reported in the Profit and [.oss
Alc.

(1) should be : (2) must be

(3) canbe (4) is not
w@raﬁaﬁﬁﬁéﬁﬁwm%wwﬁﬂaﬁaﬁ
31 O |

(1) 81 =nfex (2) stEsg B =Ry

(3) B |ewt B (4) TS B

Shareholders' wealth in a firm is represented by :

(1) No. of employees in the firm

(2) Book value of the firm's assets less the book value of its liabilities
(3) Retained eamivngs

(4) Market price per‘ share of a firm's common stock
@qsq‘ﬁaiﬂmﬁﬁr%aqaﬂﬂ%ﬁféaﬁ%mm%‘:

(1) w4 § wHenlRat & den & g

@) 7 A T A T A B B e B e
Q) wiraRa &g 3 ary

(4)WW%WW@$%Q%WW§@%W

In order to calculate weighted average cost of capital, weights may be based op -

(2) Book values

(3) Both (1) and (2) (4) None of these

~June, 2023/(Commerce)(SET-X)/(C)
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» AN STy
(1) “ ”[T(‘qu—{ (Z)WII\*‘QQT a EHSE“% K
(3) (1) &R (2) 3t @) T ¥ BE |
80. If the cut-off rate of a project is greater than Internal Rate of Rétum (IRR), we may :
(1) Wait for the IRR to increase and match the cut-off rate
(2) Accept the proposal
(3) Reject the proposal
(4) Be neutral about it
qﬁﬁ?&ﬂqﬁ{ﬁwaﬁm—aﬁ%ﬂmaﬁmﬁmﬂ(lm)@m%a
BH
(1) IRR%aaﬁaﬂTaﬁ—eﬁqﬁé%awaﬁasrs’aawaﬁ
(2) TEE EHR B |
(3) I H FTENFHR HY
(4) 39 IR T qey @
81. What is Business ?
(1) Buying and Selling of goods (2) Commerce and Industry
(3) Trade (4) None of these
HqE™T T 8 7
(1) a&gatt @1 sha-fasha (2) aiferg ik IEAwT
(3) =X 4) T | Hg 7
82. Who is known as father of scientific management ?
(1) F. W. Taylor ~ (2) Max Weber
(3) Henry Fayol - (4) S. George
A6 FiE 1 S hE @haT ST 8§ 7 |
(1) Tho S=go IeR (2) BerE A=Y
(3) B0 B (4) THo Sirst
.. ‘ P.T.O.
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83. Management is called a process becausc :

(1) It is applicable to the manufacturing process
(2) It is relevant for social organization
(3) It involves a series of action
(4) All of the above
(”Mmﬁaﬁ@mgﬁ,ﬁ{%
(4) 39 T3

84. Which among the following involves in planning process °
(1) Selective of objective (2) Determine the way to achicve objective

(3) Both (1) and (2)

Frfafga d & &9 B ofes 8 orfes & 0

(1) Je9T FH FUF (2) 3299 oI

(3) (1) 377 (2) ==t (4) 373

(4) Nonc of the above

85. First step in organizing is -
(1) Establishing authority leadership
(2) Coordination of activitics
(3) Grouping of Jobs into departmentation
(4) Division of work
SR § qwer mvo B
(1) sfaar Jga @ s
(2) wiafafadt & ar=ayg
(3) fam & Sfrgfradt oy e
(4) =8 =1 fawrom
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86, s, is the process of differentiating between a

. . pplicants in order to identify ¢
hire those with a greater Y and

likelihood of success in a job.

(1) False negative error (2) Training

(3) Selection (4) None of the above

........... ﬁmﬁﬁmaﬁmﬁﬂwaﬁaﬁaﬁw,maﬁ?
ﬁﬁwm%maﬁm%@ammaﬁm%u

(1) T FpRTeAes e (2) wfareror
(3) === (4) SWH H F BE T8

87. According to Fredrick Herzberg

.......... are elements associated with conditions
surrounding the job.

(1) Hygiene factors (2) Motivating factors
(3) Economic factors (4) Environmental factors
ﬁ;i?‘oﬁgﬁaﬁ%aﬁaﬁ ........... m%eﬂﬂmﬂaﬁﬁaﬁﬁf%fﬁm%l
(1) *===a1 HR* (2) IH FRH |
(3) T ®Hn (4) 9AETNT HH

88. Contingency theories of leadership has been developed by :
(1) Fiedler (2) Hersey and Blanchard
(3) Hardy (4) All of the above
(1) X &I | (2) B8 R == zwI
(3) BEl &g (4) SUH G

89. Which of these should not be avoided for effective communication ?
(1) Noise (2) Planning
(3) Semantic problems (4) Wrong assumptions
HWW%W@@%W%VWW?
(1) % @ @
(3) Tdfes T (4) eI e

‘ : P.T.O.
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eSS arc .
The three stages of the change process &

ustment and Refreezing
efreezing

90. .
(1) Unfreezing, Adj R
' zing an
(2) Adjustment, Unfrecz,!ng rec
(3) Adjustment, Unfreezing and Rc-dd_]l‘lstl]"lfml
(4) Adjustment, Re-adjustment and Unfreczing

ofted s & & I
(1)%,@&%@?%

(2) USwEEHTE, SRR X TRt '
(3)@;;&3,3@%@111_@
(4) TesTEeHE, Q-TseRede lR SAAmISTT

91. The method of moving average is uscd to find the :

(1) Secular trend " (2) Seasonal variation

(3) Cyclical variation (4) Trregular variation

TR TSt & Rify @ SEnT B @ S B § ReEr ST ©

(1) gHfRYer sgia (2) AEHT g
(3) = frar (4) erfrfe R
92. Two unbiased coins are tossed, what is the probability of getting at most one head ?
(1) 3/4 (2) 1/6
3) 12 - (4 13
a?wmﬁﬁmm%,emﬁem@%wﬁﬁm
T B 7 |
(1) 3/4 ' (2) 1/6
3) 172 (4) 173

93. When the share are forfeited, the share capital account is debited by :
(1) Nominal value of shares (2) Called-up capital
(3) Paid-up capital (4) None of the above
m@sﬁmwm%mw%ﬁraﬁﬂlﬁ@rﬁaﬁéﬁzﬁmw%'
(1) = &1 FFHE gw7 7w (2) A6 Sh gy |
G) == o zm ' (4) SHE H | B w7
PG-EE-June, 2023/(Commercc)(SET-X)/(C) |
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g4. The balance of Sinkip Fund Triv |
transfered to : & Sun Investmcm,A/c after the realisation of Investment g
P&L A/
(M Debent ‘ 2) P & L appropriation A/c
(3) Debenture A/c 4) Sinking Fund A/c
ﬁaﬂ;ﬁ T B A Ry ey I B A R B iR R
() w2 @ (2) == Bl g
(3) T @ (4) Sem-Ffy e
95. For calculation of the valye of an equity share by yield method, information is required
regarding :
(1) Normal rate of return (2) Net assets of the business
(3) Face value of the share (4) Market value of the share
%mmwsﬁaﬁﬁw%gmﬁm%mmﬁmsm
BIHl T
() A " e (2) =aa™ F g Hafy
(3) IR F sifeT g (4) ST B IR goo
96. Dividends can be paid by a company only out of : |
(1) Current year's Profits (2) Capital Redemption Reserve A/c
(3) Securities Premium A/c (4) Reserves and Surplus
I ST heel AT B T har ST Hahar ©
(1) arg a9 1 @y (2) ISi Ao oTfar @ran
(3) wfcrygfer shiffEs @rar (4) ISR IR Ay
97. The accumulated losses under the scheme of internal reconstruction are written off
against : '
(1) Share Capital A/c (2) Capital Reduction A/c
3) P&L A/ (4) None of the above
SR QAR @ AT $ qeq d@Ra wREr @ 92 @l § e o
(1) F== goft @ | (2) 9ot 2Rl
(3) o wg T @ (4) ITA® F | B T
P 70
PG-EE-June, 2023/(Commerce)(SET-X)/(C) :
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jority in pz over :
a floating charg¢ have priority 1n payment

98. Decbenture holders hrfving (2) Secure d creditors
(1) preferential crz(.illtors . (@) None of the above
3) Unsecured cre itors , . 3 .
‘(ﬁ)ﬁﬁ“T e gy OTas e B G F grerferesem € ST
(1) TR ATaT (@ g AT
(3) SRR FAR : (4) ITih F A AR T
99. Provision for doubtful debts in case of standard assets is to be made of :
(1) 1% (2) 0.40% (3) 5% (4) 10%
Wﬁvﬁr%wﬁﬁﬁam%ﬁmmmﬁﬁmw%:
(1) 1% (2) 0.40% (3) 5% (4) 10%

100. Issue of bonus shares by the subsidiary company out of capital profits will :
(1) Decrease cost of control |
(2) Increase cost of control
(3) Have no effect on cost of control
4) Incrgase capital profits
TEE® HIH &0 T o & F G99 99T SR BT
(1) =T & @ & A amaem
(2) =T & @ 7 gle @@
(3) FE=oT @ AT W B g9 T8 gy B
(4) ST T & gfe amE
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1.

2.

STARTING THE QUESTION PAPER.

All questions are compulsory.

The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilator -
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated.

. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to

the candidate so that a copy of OMR Sheet may be kept by the candidate.

. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the

University Website immediately after the conduct of Entrance Examination. Candidates may raise
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within
24 hours of uploading the same on the University Website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be
considered.

. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,

may be done in the question booklet itself. Answers must not be ticked in the question booklet.

. There will be no negative marking. Each correct answer will be awarded one full mark.

Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated
as incorrect answer.

Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

Before answering the questions, the candidates should ensure that they have been supplied correct

and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examination.
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1. The basc of tax under the head 'Income from Housce property' is :

(1) Rent Received , (2) Annual valuc
3 Standard Rent (4) Municipal valuc
“re |7 § O M & oferid wY o enaR ¥
(1) sy faw=mr - (2) aiffer T
(3) | T (4) TR o
2. Deduction regarding tele-communication services is allowed under thc following
Section :
(1) Section 35D (2) Section 35 AA
(3) Section 35 ABB (4) None of these
W@m@ﬁ%waﬁaﬁﬁﬁmﬁaﬁaﬁw%aﬁaﬁﬂﬁ%
(1) &= 35S (2) &7 35TQ
(3)%35@@ (4) 39789 q g T
3. Bond washing transaction is a method :
(1) To save income tax . (2) To pay less income tax
3) To show less income (4) Not to prepare return of income
iz FIfRET I3 T @Ay 7 - : '
(1) AR FTA H (2) HH STIHI aA H
(3) HH o @™ &t (4) o & fEeeh AR T8 &=A B
4. Loss of one head of income can be set-off against the following :
(1) Against head 'salaries' . (2) Against head 'Income from other sources'
(3) Income from any other head (4) None of these
™ & uh 9Ndeh & A Bl Fr=ikad & fOes 9e-3fih fhar ST |ehal ® -
(1) Fa=v fides & FEe (2) ‘o7 T ¥ S Mdes B T
(3) fopeT o= M & o (4) 399 | Hg T8l

5. Requirement of furnishing PAN to tax deductor is mentioned in following Scction of
Income Tax Act :

(1) Section 206 ' (2) Section 206 (A)
(3) Section 206 (AA) (4) None of these

PG-EE-June, 2023/(Commerce)(SET-X)/(D) P TS0,
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ST SR @ PRl o § a3 B B S g B
SILTHAT Pl I fopar /=r §

(1) o1 206 (2) | 206 (T)
(3) 8T 206 (W) 4) 398 @ P T
6. A Hindu undivided family is for assessment purpose :
(1) An independent unit (2) A branch of a trade
(3) A form of partnership ° (4) None of these
T g ST yRaR Feaien S2eg 3 g 2
(1) T @ 356 (2) SN #H TH el
(3) =R W TH w9 (4) 378 & g e

7. Which of the following is not a part of industrial policy ?
(1) Tariff reduction
(2) Subsidies to industry ,}
(3) Change in the corporate tax regime
(4) All of the above
ﬁwﬁ«rﬁaﬁﬁﬁﬁﬁ—waﬁ%ﬂﬁm?ﬂﬁzﬁrﬂmaﬁ%?
(1) 2% & O ’
(2) T W AfEST
(3) HURE HX AT H A&

(4) SRRH
8. Monetary policy affect the .............. : '

(1) Reserve and unemployment ~ (2) Money, supply and interest rate

. (3) Taxes and-exchange rate (4) Stock, price and minimum wage

Afxep ART .oeeeennes BT TATET BN B |

(1) Rod e S (2) T&T, STYRT SR =T <X

(3) HX AR AT T (4) WM, T SR AT A
9. Union of the folloWing items is not included in a country's balance of payments ?

(1) -Shipping services (2) Interest received from abroad

(3) Import and export duties (4) Tourists expenditure
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Reet 3w @ A age § Frefafee wey @ g onfEe TR ?

(1) Rt qard 2) faRyr | w<q &AW
(3) o AR A Yo C (4) et @ @H
10. Business environment is encompassed as the climate or set of conditions, economics,
social or institutional in which business ............... are conducted.
(1) Operations (2) Customs ‘ :
(3) Rituals (4) Meetings
FRON AR S@dg AT S $ 9, SrefqTre, AR a1 SRR & @9 A
ity ® R seme .. ST fpT ST 2
(1) = (2) G g
(3) HHHIS (4) b
11. The method of moving average is used to find the :
(1) Secular trend (2) Seasonal variation
(3) Cyclical variation  (4) Irregular variation _
ARAT wakeT @ AR @ AT Fre o @ ST A AT ST
(1) =HfFRYer SgiRT (2) AreHl S
(3) =R PRI (4) At B

12. Two unbiased coins are tossed, what is the probability of getting at most onc head ?

(1) 3/4 (2) 1/6

(3) 12 (4) 1/3
amﬁw%ﬁaﬁmw% aftes @ offtre W fod oI @l wifdesen
FT T ? |

(1) 3/4 (2) 1/6

(3) 12 4) 1/3

13. When the share are forfeited, the share capital-account is debited by :
(1) Nominal value of shares (2) Called-up capital
(3) Paid-up capital "~ (4) None of the above
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. Yy 2fre BpET ST T
ST Sielt T ERT Y Rar swer @, Q) ofer goll @ Ay B
(1) R FT AT T EW (2) |f do0 &
(3) W< gSh =T (4) IoH F § B T

e s sl s eat] investment is
14. The balance of Sinking Fund Investment A/c after the realisation of inv
transfered to :

() P& L A/c | (2) P & L appropriation A/c

(3) Debenture A/c (4) Sinking Fund A/c

PR & gt & I fe-ffy PRy e @ 9l @ R BB
ST B .

(1) -8y @rar (2) g =T =T

() IEAEERCINI , (4) shew-f=fy @@

15. For calculation of the value of an equity share by yield method, information is required

regarding : .
(1) Normal rate of return (2) Net assets of the business
(3) Face value of the share R (4) Market value of the share
des fafy 20 o SRR R B gem @ T B R gEer o aTEeaehar
Bl © - .
(1) aqdl @ 9= &% (2) =TaEE & Yem IRy
(3) X w1 SifET T (4) T B TR T
16. Dividends can be paid by a company only out of :
(1) Current year's Profits (2) Capital Redemption Reserve A/c
(3) Securities Premium A/c (4) Reserves and Surplus
DY ERT el AHIT B SPFIAN Bar o Fepar ©
(1) =g a9 &1 (2) 9T Ared TR @rar
(3) wiersgfer shferem e (4) *ie AN SRy
17. The accumulated losses under the scheme of internal reconstruction “are written off
against :
(1) Share Capital A/c (2) Capital Reduction A/c

3B) P&L Alc (4) None of the above
PG-EE-June, 2023/(Commerce)(SET-X)/(D) '



18.

18.

20.

sraRes gAfrbier @ e & aoa e s} By & @R T sTer ST §

(1) I Yol @ (2) st epdyehy @rer
(3) @ ud @il | (4) sudehs # A B

Debenture holders having a floating charge have priority in payment over :

(1) Preferential creditors (2) Sceured creditors

(3) Unsecured creditors ~ (4) None of the above

TR AT A OIS R Bl I e & SRl ¥
(1) TS AR (2) G AT

(3) ST &R . (4) SWke H g HIg AL
Provision for doubtful debts in case of standard assets is to b‘e. made of :
(1) 1% (2) 0.40%

3) 5% @) 10%

o HART B AT N SR o & g smEer e o
(1) 1% A (2) 0.40%

3) 5% | 4) 10%

Issue of bonus shares by tﬁe subsidiary company out of capital profits will :
(1) Decrease cost of control

(2) Increase cost of control

(3) Have no effect on cost of control

(4) Increase capital profits

TEEE BU ERT GO @Y H @ S QY ST T

(1) Fra=or & arre # Al ST

(2) FE=oT @i are # gie @

(3) =IO 1 @r Ux g qerE e uSdl §

(4) doiTe w9 F gfes @maem

PG-EE-June, 2023/(Commerce)(SET-X)/(D)
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6
Memorandum of Association ol

N \ (v (Y mne ] ‘l)c
21. How many fundamental clauses arc contained in

company ?

(N 5 (2) 0

@) 7 @) 8 ' s
o Fa D Neikew offw waRigeE 7 Aferes @ FfeT e
(NS (2) 6

3) 7 4) 8

. v Fon . - i it is ca
22. 1f the ownership of share of a company gocs to another by operation of law, 1L 15 lled

as:
(1) Transmission (2) Transfer

(3) Both (1) and (2) (4) None of these
aﬁ%ﬁrm‘wﬁ%@waﬂwﬁawaﬁmﬁmﬂm%wm
?, O §] FHI /AT B :

(1) g==oT (2) TIHIOT

(3) (1) STiX (2) I=f (4) =% q g &l

Name of the member of a company is struck off from the register in case of :
(1) Issue of shares (2) Bonus issue of sharcs

(3) Issue of share warrants (4) None of these
aF HUH B G H A RS F AT S §, T & B H
(1) 37Tt =1 e (2) 319t @1 = R

(3) «IX grRe H FEEA (4) 3789 q Hg TE

23.

24. Liability of director of a compény is towards :
(2) Public

(4) Sharcholders of the company

(1) Government
(3) Company Law Board
us FO B R wroae e @ R e

(1) Ft&mIT (2) ST
(3) w4 4) BN B AR
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25. Which of the following is the meeting of sharcholders ?

(1) Annual General Meeting (2) lixtra Ordinary General Mceting
(3) Class Meeting (4) All of the above

PrefaRad # @ I QERYRB @) Jaw D7

(1) T ST FH (2) SR AT e

(3) T qSH (4) ITeR A

26. As per Companies Act, 2013, the procedure for winding up of a company can be
initiated either :

(1) By the tribunal (2) Voluntary
(3) Any of the above (4) None of the above

HYAT HAAEH, 2013 & AT, Wm%wmm%mw
ufshar & ST wehell © ¢

(1) =rEfEeT arxr (2) Wfess
(3) SUAH H & (%) ST A A BHg A

27. Human Resource Management is amalgam of ............... :
(1) Job analysis, recruitment and selection

(2) Social behaviour and business ethics -

(3) Organisational behaviour, personal management and industrial relation

(4) Employer and employee

(1) w0 Rrgreor, st K =

(2) GEIRTEE daer X AEENdS Al

(3) HTeATHS B, ARPTT FEed oI} SEnfen ey
(4) Frarer X e '

28. HRM can be understood as process of :
(1) Processing (2) Developing
(3) Maintaining people (4) All of the above
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. : - , - s\’ 2
weTRE @) Ry uiRsn S wa Wi S aEdn e
(1) SERHW (2) faepraaie
(3) @ A ST @ (4) 3udes adfl

29.  Which of the following is a benefit of employce training ?
(1) Improves morale
(2) Helps people identify with organizational goals
(3) Provides a good climate for learning, growth and coordination
(4) None of these

FrafRad o @ H-a1 FH=ard ufkreror & T 8 7
OESIESEEFGIES

(2) AT B TSRS WAl P qEEE B § HEE BT §

(3) T, R o) T @ Rig U oSt qrmEReT FaF Sl 8
(4) 379 | +g T,

30. Recruitment logically aims at :
(1) Attracting a large number of qualified applicants
(2) Offering enough information to unqualified persons
(3) Encouraging potential applicants
(4) All of the above
dqifehs & & Al &1 A& B ¢
(1) == 9 ¥ qrg STaEsh! Wl TR hIAT
(2) 3T ARHAT B GATT SRR AT
(3) doifad SAEEeR! &I Hieared AT

(4) SYAH Gl
31. What is Business ?
(1) Buying and Selling of goods (2) Commerce and Industry
(3) Trade (4) None of these
HAGAE T & 7
(1) a=gsii @1 wHa-fas (2) @i ofR I
(3) =&MU 4) T Q @ig T
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32.

33.

34.

35.

PG-EE-June, 2023/(Commerce)(SET-X)/(D)

"~ Who is known as father ol scientilic management ?

(1) F. W. Taylor (2) Max Weber
(3) Henry Fayol (4) S. George
e FEuT H STk HY FHeT Srer & ?

(1) Tho S=Fo ] (2) B FX
(3) B0 BA (4) THo SifSt

Management is called a process because :

(1) Itis applicable to the manufacturing process
(2) Ttis relevant for social organization

(3) Itinvolves a series of action

(4) All of the above \

&Y @Y TH THAT HaEl S & i -

(1) =& FET 9k o @rp ear @

(2) 7€ AR TeT @ R SRR ©
(3) =94 BRI # Uh fEar e B

(4) S G4

Which among the following involves in planning process ?

(1) Selective of objective (2) Determine the way to achicve objcctive
(3) Both (1) and (2) (4) None of the above

Pttt # § B P ST § o ¥ 7

(1) SEF &1 =9+ (2) TELT WIS XA & AUD BT FLRor
3) (1) &% (2) I (4) SRH H | g

First step in organizing is :

(1) Establishing authority lcadership

(2) Coordination of activities

(3) Grouping of Jobs into departmentation

(4) Division of work

P.T.O.
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.

sTATERiT A gear =)o ¥
(1) MR A @ AT
2 ’ﬁ‘aﬁmﬁl W THET

(3) R § NHRA T T

4) A & s

: E &0 ’ : - identify and
S6i T st is the process of differentiating between applicants 1n order to identify
hire those with a greater likelihood of'success in a job.
(1) False negative error (2) Training

(3) Selection (4) None of the above

........... AR H g o e ae At @ geer e S
S g w9 B RQ emdes & dr ofax ey @ e B

(2) wfreror

(4) STE ¥ q HE A

(1) T THIRAHS e

(3) =+
37. According to Fredrick Herzberg .......... are elements associated with conditions

surrounding the job.

(1) Hygiene factors (2) Motivating factors

(4) Environmental factors

PR B I H Rl § 8 a2
(2) 9B BHH
(4) gatEReNT FHRE

(3) Economic factors

(1) @T=3dT HhIih

(3) 3R B

Contingency theories of leadership has been developed by :
(2) Hersey and Blanchard .

(4) All of the above

38.
(1) Fiedler

(3) Hardy

AT B SheHP st @ RFefaa fear = 8

(1) s’ a1 (2) B9 IR == gry
(3) &&t & (4) STAH TN
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39. Which of these should not be avoided for effective communication ?

(1) Noisc (2) Planning

(3) Scmantic problems (4) Wrong assumptions
Gl W B R 3H QB TSt o s =Ry ?
(n NI1EY : 2) T

3) ReAfes e ‘ (4) T e

40. The three stages of the change process are :
(1) Unfreezing, Adjustment and Refreezing
(2) Adjustment, Unfreezing and Refreczing
(3) Adjustment, Unfreezing and Re-adjustment
(4) Adjustment, Re-adjustment and Unfreezing

qRadas 9fkar & 9 =) §

(1) STTHINTT, TSSTeHe iR JehifsiT

(2) TSSTEHT, FEHISTT 3R {hifsiT

(3) TSSRTHT, STEHINHT AR q-TssieAe
(4) TsSTEHE, J-ussiede X ST=hifshT

41. "A bird in hand is better than two in the bush" principle is related to which theory of

dividend ?

(1) Walter (2) MM

(3) Gordon (4) Residual

‘g F wep fAfSET wEl H @ @ FBR &7 Ha Awier & fed Reia | |Eid
g7

(1) g (2) THo WHo

(3) e | (4) STeferse

42. What are current assets ?
(1) The assets that can be sold easily by a company
(2) The assets that are converted into cash within a period of one ycar
(3) Assets that are held by the companices to pay off the current liabilities
(4) All of the above

PG-EE-June, 2023/(Commerce)(SET-X)/(D) P.T.O.
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43.

44,

45.

SIGESRINEC IR NI
(1) 3 HaRel o Fel Fo &R omarh & A o el @ A
(2) 3 waRwEt S o G A omfy B shex A A aRafia g S

mﬁ@wﬁmsﬁmﬁﬁrmaﬁqﬁa@ﬁrwwma}m@
STt B

(4) STAH |

The process of financial audit begins with :

(1) Planning : (2) Reporting

(3) Testing (4) Internal control

i siderr @ wigr ge A B |

(1) IS & Ay 2) RQfET & dr

(3) TEer &% wrey (4) oTidfes =T & @

The objective of the ordinary audit of financial statements is the expression of an
opinion on :

(1) The fairness of the financial statements
(2) The accuracy of the financial statements
(3) The accuracy of the annual report

(4) The balance sheet and income statement

ﬁ?ﬁaﬁwﬁ%waﬁwws—éwﬁwwwwaﬁaﬁmﬁﬁ%
(1) [T fE=et &1 g
(2) faxig fqaxem @ aRgpRear
() @i RO 1 afRgreear
(4) SS9 sfie oY St faaxer

The audit conducted to check and examine the efficiency and effectiveness of
management is called ................ audit.

(1) Management (2) Cost

(3) Energy (4) Safety

PG-EE-June, 2023/(Commerce)(SET-X)/(D)



qEYE @ QEAl SR UWEsiaar % g ) 9O%9 B ee fHu o
STHEOT Bl cvvvoccnnnnnnnns SHEIT FHET ST B
(1) =¥ . (2) @rFE
(3) S @) e

46. Which report will be submitted by an auditor. if he is dissatisfied regarding the facts
and informations ?

(1) Clean report (2) Management report

(3) Qualified report (4) Cost report

Tl SR IS ¥ g R R SENEE aR-a RO Segd SO ?
(1) ==s R (2) sEgT RO

(3) ara Rare (4) wFE RO

47. Process of checking the evidence of the entries is called :7

(1) Verification (2) Observation
(3) Vouching (4) Inspection
(1) TEmQ= (2) A=A
(3) arsfrT (4) T

48. Consider the following activities :

(I) Valuation (II) Verification (ITI) Vouching

The correct sequence of the activities undertaken by an auditor is :
(1) ILLII (2) OLILI

3) ILOL I 4) LII, 11

Fr=faRaa fraepamal oX faem St -

(1) gegissT (1) |9 (111) arsfi

Teh Il GEeh T & T8 Tfaaisdl &1 9e7 9 8 -
(D) 1L L, II (2) UL 11,1

3) I I, I 4) LI, 11

PG-EE-June, 2023/(Commerce)(SET-X)/(D) ! P 0]
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49.

50.

51.

52.

The main object of investigation is .
7N N \ " - \ Y Q7 ﬁ’aUds
(1) To discover crrors and [rauds (2) 'To prevent crrors and

(3) To verify statement (4) All of the above
STAN] T W I YT ¢

(1) FRAT AR e H @S

(2) FRA AR g H A

(3) HYT H AT HAT

(4) SUUH T

Before the work of audit is commenced, the auditor plans out the whole of audit work
is known as :

(1) Audit plan (2) Audit note

(3) Audit risk (4) Audit program

SR T B gE A F e, Sides qret Siderer e H AT S E,
HEAC ©

(1) BT QST (2) Sieheror faxer

(3) ApeEror SIREH (4) SAHeToT HIHHHA

................. is a unit of product, service or time in relation to which cost may be
ascertained. '

(1) Budgeted cost (2) Unit fixed cost

(3) Unit cost (4) Cost unit

................

(1) S A AESIEREIFESASIUS]

(3) ZHE NI (4) AR Sh1s

Two important opposing factors in fixing the economic order quantity are ........... cost
and the ........... cost.

(1) Ordering, Storage (2) Storage, Scrap

(3) Ordering, Re-ordering (4) Storage, Re-ordering
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off¥es oA AN 4 i A A "eEyel FAd wEE . A AT
e e e S SIUCEES

(1) ¥R, =R (2) ==, &Y

(3) &y, -t (4) =, -7

53. Idle plant capacity means :
(1) Practical capacity minus normal capacity
(2) Maximum capacity minus actual capacity
(3) Practical capacity minus actual capacity
(4) Maximum capacity minus practical capacity
Fifepa dd=r amar @1 19 B -
(1) HEeIReh eHar AZAE dHFT &0dr
(2) Af¥RTH &™dT AZHd aReaE erEaT
(3) GBI &Har AT IrEiias eHaT

(4) SAYRIH &= AT e a9am

54. Under-absorption of production overheads is ............. and over-absorption of such
EXPENSESIATe sovoames ik, while reconciling costing profits with financial profits.
(1) Added, Deducted (2) Deducted, Added
(3) Added, Multiplied (4) Multiplied, Deducted
g @ & 9 arg @W w1 B B 999 SdiRd SuiEd Hi
HA-FEMIT .......... AR UF =g FH AUH-SEIEoT ... z1l.
(1) Sie 13, ge@ ™ () e ™, P T
(3) S A, T R T 4) T B W, gy T

55. Where actual loss in a process is less than the anticipated loss, the difference between
the two is considered to be :

(1) Abnormal gain (2) Normal gain

(3) Abnormal loss (4) Normal loss

SRl Uh ufkar ¥ anafas e, SoRE e & &9 2, O4F & 9" @ oy
HHET ST 2

(1) STEHE= oy (2) gET= T

3) sTE™E BIfA (4) 9H= Biv
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58.

59.

'(3) Rs. 18,00,000 .
Th HUAT B P/V ST 50% SR GREM B A 40% o1 AR gaw= =

D

‘ . - .« where batch costing is
is an important point to be determined in industrics wh

.................

(2) Lstimated profit
(4) Depreciated value of plant

ﬁmﬁamaﬁwwq‘m@@%

(1) Economic batch quantity
(3) Escalation clause

2 e 9=

SRR, T s paminsss ba s
HIRST AR & SR S |

(1) oTf¥ies = == (2)aﬁqﬁﬁaﬁ?

) = @S (4) T B ST T

A budget which is prepared in a manner so as to give the budgeted cost for any level of
activity is known as .............. budget. -
(1) Master | (2) Zero-base

(3) Functional (4) Flexible
@wsﬁgﬂwﬁwmw%ﬁsﬁﬁ@sﬁwﬁw%ﬁw

TS AR & ST EB, ..onnn.. IoTe B ®Y F ST ST B |
(1) "r==x (2) AR
(3) HEH®H (4) T

The P/V ratio of a company is 50% and margin of safety is 40%. If present sales is
Rs. 30,00,000, then Break Even Point in Rs. will be :

(1) Rs. 9,00,000 (2) Rs. 5,00,000

(4) None of the above

30,00,000 o g, @ o ¥ S& g4+ Uiz BN :

(1) 9,00,000 o (2) 5,00,000 o
(3) 18,00,000 &o (4) IWH H | HIg T8

Every year the residential status of an assessee :
(1) May chance (2) Will certainly change

(3) Will not chance (4) None of these
BT 9I U Heifkal &1 ofardy Rafd -
(1) aRaffa & g&d 2 (z)ﬁﬁwqﬁaﬁiﬁ%ﬁ.

(3) ufafda =et erft 4) 39 q DE T
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61.

62.

63.

For being the income taxable under the head 'salarics', it is cssential to be :
(1) No relation between employer and cmployce

(2) Relation between employer and employee

(3) Receipt of only cash salary by cmployee

(4) Receipt of only prerequisites by employee

M AT D ToqT B4 oy AF B Ry, FE MEEF T R -
(Uﬁ‘ﬁ?ﬁf@?ﬂ?ﬁﬁfﬁ%aﬁaﬁéﬁ%qﬁa‘r

(2) P AR HHER B G ddeg @

(3) FHIG T FAw TH AT B T @

(4) AR ERT Baet gafemedt 5wk &

Today Business is characterized by

(1) Diversification (2) Loss

(3) Fight “ (4) Conflict

ST, e & Qe L. = iR

(1) TateeiiepzoT (2) B

3) W’ (4) weref

Which of the following is not a part of the business environment of business ?
(1) Customers ' (2) Suppliers

(3) Competitors (4) None of the above

Frafefad & F B9-91 AT B HRETH A6 4l B JE S ?
(1) s (2) oTgfeierat

(3) ufeEntr (4) SRRE H q HE &l

The Government policy for sick industrial units aims at :

(1) Revival (2) Reconstruction

(3) Rehabilitation (4) All of these

&1 SN gepredl & forg wxepk @ iRy @1 @ed ®
(1) gTEER (2) gt

(3) gar| . (4) A |l

PG-EE-June, 2023/(Commerce)(SET-X)/(DD)
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64.

65.

66.

67.

D

i i : axati ‘ics decisions of the
Name the policy that accords with cxpenditure and taxation policics
government :

(1) Monectary policy (2) Fiscal-policy
(3) Labour market policies (4) Trade policy

S RRY T A SIS R B o o e AR & FeE @ ooged
ar

(1) N Ry (2) TR AR

3) == S AT (4) ==mare T

............. is derived from both financial accounting and cost accounting.
(1) Accounting Theory (2) Responsibility Accounting
(3) Social Accounting ' (4) Management Accounting
............. i i oIX @FTT draieRT ST @ o< el
(1) T/@&T =i (2) SUEEE /e

(3) | dE (@) wee dr

Capital gearing ratio is ................ :

(1) Market Test Ratio (2) Long-term Solvency Ratio

(3) Liquid Ratio (4) Turnover Ratio

Higest FEfeT sTgar ........ B 21

(1) TR TEToT ST (2) Srdepiferes STe—amaT ST

(3) X ST | (4) =l srgura

Calsﬁ lost in operations ................ equal to the net loss as reported in the Profit and Loss
Alc.

(1) should be (2) must be

(3) can be (4) is not

PG-EE-June, 2023/(Commerce)(SET-X)/(D)
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Aoy R el W A ROE @ vl g wifer & awE daee § FGwa @

11 BT RN IR S |
(1) N =y (2) aragy 8 =iy

68. Sharcholders' wealth in a firm is represented by
(1) No. of employees in the firm

(2) Book value of the firm's assets less the book value of its liabilities
(3) Retained earnings .

(4) Market price per share of a firm's common stock

Th BH H AR B o/ wRiffe B T ©

(1) B9 7 HHARAT H wemr & gry

(2) ®BH N AR B TE T IED A B B GE 5T B BRI
(3) uRITRT HAE B &N |

() T B B A R B AR AT TSI T B Er

69. In order to calculate weighted average cost of capital, weights may be based on :

(1) Market values (2) Book values

(3) Both (1) and (2) (4) None of these

goll ol AR ST AT & O 3 & [, W) STaiRe & gear © -
(1) Ir=TT Ja 9Y (2) JKh T WX

3) (1) R (2) aFT I (4) 3979 q +H T

70. Ifthe cut-off rate of a project is greater than Internal Rate of Return (IRR), we may :
(1) Wait for the IRR to increase and match the cut-off rate
(2) Accept the proposal
(3) Reject the proposal
(4) Be neutral about it

PG-EE-June, 2023/(Commerce)(SET-X)/(1D) i P AT,
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71.

72.

73.

gfr RR oREISHT @ He-olln &x SRyha @hl ariafRes &¥ (I
B8H
(1)IRR%aﬁaﬁTm—em%%Waﬁ'mgaﬁﬁﬁ
(2) ST R B :

(3) T W/ STENHIX B

(4) 39 I H T @&

In Rowan plan :
(1) It provides a guarantee of minimum wage

(2) Management share a percentage of bonus

(3) Inferior and fresh workers are not penalized

(4) All of the above

I o1 H :

(1) I8 gAa9 HJASG & MRS U& HIal &

(2) IEEH A HT TILAT AT HAT &

) B9 AR AT HH=AT wr fea TE€F A sar @

(4) I9U<H 9l

Time wages are paid on basis of :

(1) an hour (2) aday

(4) any of the above

(3) aweek

ArEfe AeTgd B A s STER 9 e Ser ® 7

(1) < =er (2) us fo=t

3) T 9<IE (4) SIHE H A Hs o

Identify the major actor of industrial relations from the following :
(2) Unions

(1) Employers
(4) All of the above

(3) Government

Frafafag & @ oNenfes ddel & wgE i @ JEEE B

(1) FapT (2) g

() g (4) IURAH T

PG-EE-June, 2023/(Commerce)(SET-X)/(D)
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74. The conﬂipts and disputes between employers and employce of any industrial matters
are known as :

(D) Industrial'disputcs (2) Human relation
(3) Conlflicts relation (4) All of the above

REelt o NNl A § Frirrel ol wHEE & O d@ud Sl fgErdt @
= =9 § S St ®

(1) SNenfres faams (2) W G
(3) HEd dey (4) SU=h Al
75. When the value in a series are not equal importance, we calculate the :
(1) Arithmetic Mean (2) Geometric Mean
(3) Weighted Mean (4) Mode
ST Rl e § A @HE wee g @ ¥, A1 &F O 6N
(1) SR At , (2) SfaciE A1e
(3) iRa Are (4) SgAh
76. What is the value of the ﬁrs.t quartile for observation 15, 18, 10, 20, 23, 28, 12, 16 ?
(1) 17 ) 16
(3)::12.75 4) 12
15, 18, 10, 20, 23,28, 12, 16 eTolt & Q. wer =qgeles &1 A =1 8 7
(1) 17 , (2) 16
(3) 12.75 4) 12

77. Ifthe beta one is 9, beta two is 11, then cocfficient of skewness is :

(1) 0.589 ' (2) 0.689

(3) 0.489 (4) 0.889 ‘
af% dter wh 9 B, der & 11 8, O S @ ens @
(1) 0.589 (2) 0.689

(3) 0.489 (4) 0.889

PG-EE-June, 2023/(Commerce)(SET-X)/(D) P.T. O.
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78. The corrclation coefficient is used to determing :

79.

80.

“the X-variable
: ; necific value of the X-varia
(1) A specific value of the Y-variable given a specific valuc 5
o , : . o  of the Y-variablc
(2) A specific value of the X-variable given a specific valuc 0
- . y . iables
(3) The strength of the relationship between the X and Y var iabl

(4) None of these

SEH JNF B ST Py B PR S $ g BT ST ©
(D) Y-=R &1 s Rftre a9, Rer wy $X-=% & T [fkne 79
@) X-=X % wh [@iRre 7, Rar mr ¥ vY-a% & ok AR g
(3)XaﬁTYaT%Eﬁa.ﬁa‘aa§r§w

4) 9 | B =

In regression, the equation that describes how the response variable (Y) is related to the
explanatory variable (X) is :

(1) The correlation model

(2) The regression model

(3) Used to compute the correlation coefficient

(4) None of these : '
Wﬁ;WﬁWW%%WW(Y)-WW(X)Q
HY deferg B ?

(1) Hed9dy Hisd

(2) ufermHe dtsd :

(3) TEHEY IOTH Sl TOFT HA B fQ IYAT fopar siar

(4) 3795 | H TEl )

The best average for constructing an index number is :

(1) Harmonic mean (2) Arithmetic mean
(3) Geometric mean (4) None of these
(1) &cHep ATy (2) STepTioTlIT Arey
(3) waficii ATy 4) 9 | BT T

PG-EE-June, 2023/(Commerce)(SET-X)/(D)
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81. Every promise ang cvery

SCt of promicoe :
called as : 0‘1”()1111%8, Iormmg the

consideration for cach other, is
(1) An agreemen :
(3) A contract (2) A void contract

S[OEo T99 \x TR g (4) A voidable contract

Fey ¥ qg==, S s gax & Rw gfrea a9 €
1 SLE X
85: h : (2) Th T oTgEY

S : (4) TH LIARTNT Ty

1 - . h i i
82. A contingent contract' is a contract to do or not to do something, if some event
collateral to such contract : iy |

(1) Does or does not happen (2) Happened or will not happen

(3) May or may not happen (4) None of the above
W‘Waﬁaa’@mmqmwaﬁﬁa%wwm@
eﬂa&%%qaqﬁéjazs )

(1) BT & ar w&f Sr (2) g3 ar JE B
(3)€r1=lao—cn%_m=|€réﬂw% (4) SWE F T $Ig T8

83. It is necessary in bailment to transfer of :

(1) Property (2) Goods
(3) Ownership ; (4) Possession
ENE ik S BT TEET BT ST D |

(1) "afr (2) #I=T

3) w@rtaE - (4) ST

84.. Which Section of Consumer Protection Act, 1986 states about the objects of the
Consumer Protection Councils ?

(1) Sec. 5 (2) Scc. 6

(3) Sec.9 (4) Sec. 11

SUARHT GO ST, 1986 Bl B =T ITARAI TREOT IRYS SR}
F T A gart § 7

(1) &5 (2) a6
(3) ®IRT9 (4) s

pC-EE-June, 2023/(Commerce)(SET-X)/(D) P.T. O.
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85.

86.

87.

Essential clements of a partnership include :

() Agreement (11) Mutual Agency
(11D Sharing of profit (1V) Busincss

(V) Association of two or more persons

(D) L. T and V only (2) L1, V only
3) LILIV and V only (4) All of the above
RN & STaLT® aEl ¥ e ¥

UESEEIN (I1) =rggere ot
() S vt FarT : (AV) &HUR

V) & @ A J s AReA @& |

(1) &a« LI iR V (2) daw LILV
R3) Faw LILIV X V (4) SRb a4l
............. cannot be dishonoured by non-acceptance.

(1) Abill of exchange or cheque

(2) A promissory note or a cheque

(3) A promissory note or a bill of exchange

(4) None of these

............. B TEIPpd B T SR T fRAT ST HewaT B
(1) ff=a o a1 =%

(2) T g9 9 I TH Ak

(3) T F== 9= 41 fatvma 9

(4) 378 4 SE &

The position of the finder of lost goods is that of :

(1) Time owner (2) Creditor

(3) Bailor (4) Bailee

@ g aeg @ oo wRA A Rk AR R

(1) 289 MY (2) ATER

(3) SHMTER (4) STHIFTER

PG-EE-June, 2023/(Commerce)(SET-X)/(D)



88. An application under RT1 can be sent by :

(1) E-mail (2) Post
(3) Delivered personally (4) Through any of the above means
SRS &5 Tod Th AT Rperdd = dor o @bl & 7
(1) §-7« (2) 9
3) =Re w ¥ Raia (4) TTrH frel A HTeAm @
89. Which new type of company was introduced in Companies Act, 2013 ?
(1) One Person Company (2) Two Person Company
(3) Limited Liability Partnership (4) Public Private Partnership
HAN AATEE, 2013 F Rrg QS @ HaT JeT F TE ?
(1) @ =RE Ho 2) & ARp FIH
(3) WA Agar wEfEr (4) Arwies fFrofl AR
90. What is the minimum paid-up capital required to incorporate a public company ?
(1) Rs. 10 lakhs (2) Rs. 50 lakhs '
(3) Rs. 1 crore (4) None of these
T AESAH HAA B AT B B R eAa9ges FAad Faw Uol a4 B 7
(1) 10 =g B9anr (2) 50 S BT
3) 1 ®HTs FIAT (4) 378 q B T
91. Accounting concepts is considered as ........... upon which the science of accounting is
based.
(1) Customs : (2) Traditions
(3) Objectives (4) Basic Conditions
QiR STAONSAT BT e AMET ST 8, B X A @1 s
ST 2
(1) Q- (2) TR
(3) IeT (4) e et

PG-EE-June, 2023/(Commerce)(SET-X)/(D) ' PIT O
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92. 1 "Tht sienainnn: is a book of original entry whercas the ..

83.

94.

D

is the book of sccong
cntry.,
(1) Ledger, Journal (2) Journal, Ledger

(3) Cash Book, Journal (4) Journal, Cash Book

(1) SR, sriaT (2) sk, AR
(3) H I, ST » (4) o, B IH

Error of omission arises when :

(1) Any transaction is left to be recorded

(2) Any transaction is recorded in a fundamentally incorrect manner

(3) Any transaction is incorrectly recorded, either wholly or partially

(4) None of the-above

TH B gi% SERCSE IESIICRS CE

(1) HE AT &1 A § g ST g

(2) B AT-39 AiKs @9 A T aAD F IS Bar I@r @

(3) I AT-IT T qld A &1 AT ST B, AT @ gf A ST w9 N/
(4) IIA=H F q PE TRl '

............. is an expenditure which is not written off in one period as its benetit is not
completely exhausted in the year in which it is incurred.

(1) Capital expenditure (2) Revenue expenditure

(3) Deferred revenue expenditure (4) Capital receipts

............. U 09T A9 & R Uh e[|y # g @ ® FE sion Star win
=g o9 39 a4 § g aE @ qErd € g 8 R @w e g

(1) geirTa == (2) T 2"
(3) SreAfg TSRE &Y (4) gstt sftr

PG-EE-June, 2023/(Commerce)(SET-X)/(D)
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g5. Gross Profit + Opening Stock + Purchases + Direct Fxpenses — Sales = woovveeeieen

(1) Cost of goods sold (2) Net Profit

(3) Cash in Hand ' (4) Closing Stock

FHT AT + T I + AT + T T — [T = coverrreennnes

(1)3%Wwa$rama 2) = T

) &8 I | (4) TR €T
96. Loss on the sale of machinery should be written off against :

(1) Share Premium A/c (2) Sales A/c

(3) Purchases A/c (4) Depreciation Fund A/c

AT B R OX BT geEE S 92 @l ST S ey

(1) =X Nty gar (2) fa=pr @

(3) I @rar (4) Teaerm iy @
97. The unsold consignment stock is valued at .............. i

(1) Original cost of goods (2) Proforma Invoice

(3) Market Price (4) At cost or market price whichever is less

T o gq A % Wi B BT ...o.ol... U BT B

(1) =TT @& g AR (2) AHET SAAZH

(3) ISR I (4) ARG A1 SR e, S oo e
98. Hire purchase is an agreement of ............... whereas instalment purchase system is an

agreement of sale.

(1) Consideration (2) Contract

(3) Hiring . (4) Return

REEAT BT oeeeveienennnn. 1 HIX B % Rt oo womelt Rl 7 s T

(1) gfersweT - (2) eTgEy

| (3) RBUT GRS (4) g

jj,v;}‘jPG_EE-June, 2023/(Commerce)(SET-X)/(D) ' L BT O.
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: S : e O agrect
99. According to the decision in Garner Vs, Murray in the absence of any agreement g,

100.

contrary the deficiency of the insolvent partner must be borne by other solvent partnerg

in proportion to ............. .

(1) Profit and Loss sharing ratio
(2) Capital employed

(3) Realisation of assets.

(4) Capitals which stood before dissolution of the firm

TR a W K fiotr & stger e ader # & @ LT PO D R
FRell ol a9l & o1 § oy RefRrar Arierd SRT .ooeeee-- % ST F
Te foar ST =nfew |

(1) ST A B AHAHIT ST

(2) PRSI g

(3) Eufr =ht w

(@) T S ot B Rew @ ged o

Irrecoverable short workings are transferred to .............. Account.

(1) Royalty payable ' (2) Landlord's

(3) Profit and Loss | (4) Trading

SafRaag e afha @l T o e G sEr 2
(1) TJoed T - (2) A AR B

(3) & &R = | (4) =R

)

PG-EE-June, 2023/(Commerce)(SET-X)/(D)
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